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NN popularity : ©17]

01 Apocalypse Now a film (produced and directed /by Francis Ford Coppola), galned widespread popularity, /

LIHEAT RS

and for good reason. . B

Francis Ford Coppola’} A&t ZH=35H HatQl Apocalypse Nowe= 17| U0, O ©H5t O|F7 UACE

adaptation ; ZHAH
02 The film is an adaptation of Joseph Conrad’s novel Heart of Darkness, /| which is set / in the African
s v L BAYBAL ASHSY = HEA + T BA

=and this (Heart of Darkness) is set ~~~

Congo | at the end of the 19th century.

O Hste 19M|7] & ofZ2|7te| B0 E H{HSZ ShE J. Conrad®| A4 Heart of DarknessS ZHAisH Z0|C}

03 Unlike the original novel, /| Apocalypse Now is set | in Vietham and Cambodia / during the Vietnam

L FMX|Ap) ot a) S \Y L during(RX|AF) + (7| ZH B AL - -~ E0b
Swhile(H& AN + ” 7} ~3l= Sob
War. S for(HA|AD) + 4 74 - Bk
QUEF AMDH= S| Apocalypse Nows HIEE HH SA|Q| HE LD ZHEC|OS HiHoZ Sict
incidental : =52l fundamental : &% 2!

04 |The setting, time period, dialogue and other incidental details| are change /| but [the fundamental
[S] [S]

the same as~: ‘~Qt L’

narrative and themes of Apocalypse Now| are the same as [those of Heart of Darkness].
> =narrative and themes :

BiZ, Al7], CHe}, 2|2 CHE 848 M2 AFZ2 HHEYO] UX|DH Apocalypse Now?| 7| 2% Q1 £72|Qt FH|&= Heart of Darkness@| 1S3t ZCt.

c EAAS HEYSIHAP
physical : 22|52l rs%f*f:r"-- mental : HAAQL spiritual : F& Q!
05 Both describe a physical journey, // reflecting [the central character’s mental and spiritual journey],
s v
P EAE 84 2 (87| YeA)
down a river / to confront [the deranged Kurtz character]|, / who represents [the worst aspects

deranged : ‘8440| Oft LEACNEAL A SHEH = HEAL+ AL

=and he represents
of civilisation].

civilisation : 23

= O 23Ol 90| 5t Y= FO| Ot Kurtz2ts =2 TS| fIs) d& Wk Wei7te 218 S RARIEH, (A dd2) FAS9 4y 1

by ~ing: ~0Hk|(““é.* +Eh P EF contemporary : SA|CH2] release : 7=

06 By giving [Apocalypse Now| [a setting (that was contemporary | at the time of its release)], //
[~ £] e
identify with ~: ‘~2t SLA|S}CH e H|WTEE -
audiences were able to experience and identify with [its themes] / more easily | than they would have //
S \% [ experience and identify with?| 3-&=% 0]
<EBS 17>

if the film had been [ a literal adaptation of the novel ].

L7PEH atAHetR QA E 7HE) tif + S+ had pp. ~, S+ ZSAIIAHEEN + have pp. --

Apocalypse NowOll J1240| 7S & GA|QF Z2 AICHE HIAS HIHOZM, A2 oyt 242 AZ0| S ZMsh A0|ACHH 2S50| AME AL o &

A2 FHE et An BAuE L2 & St

* deranged: M|'8410| OfH
JlExol Ceistc o

ﬁlﬁdstmental LlrErLHcr 'Congonttal L X|2 29 Aot Apocalypse Nows OHZE|7to| 1S HiZS
rexie mciaen S oy
! e P ;ATﬁq 2 o Y= AM Heart of Darkness@t= =2| SICHO| A H|
o s - Ed HY GAlo| HEHT ZRCIOE HZoE ZMEle E
literal HE O]F0| Z4%  contemporary Z2 Altjel 4o oly|= ol ol
adaptation 2 identify with ~1t SYA[BICE we ETlE e e
narrative =72, o|of7| @ a literal adaptation of the novel

@ a source of inspiration for the novel

@ a faithful depiction of the Vietnam War

@ a vivid dramatisation of a psychological journey
(® a critical interpretation of contemporary civilisation
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<EBS 17>

availapility:?l:%ﬂ%@, S5 sense of worth XF=Z+ . -=children : %

01 [Availability Jon the part of parents| gives children [a strong sense of worth], | creating | in them |

[S] V4 u [~=] LSSEAE

. L =and creates ~
[a feeling of being wanted].
[ creating®| 201 ] LEGALY 5 F9|
Lgwatz *lE"=0| Ol0|E2 |dt= A Y/ 20|42l F4|7} 0l0| S0|E & £FHO| LtLOF &
220 RFYFRE U2 o O 0|8 £ U= A2 AH0|A Zot AELS FO| RS HE0| HRE2 sith= =28 24 BHECH
ZHOSE  BASHOYRIZ 9+ 5+ 5
o - AP (2XO|E) : how+ 2HSHH

02 It communicates | to children | [a powerful message (about how important they are | to their parents)].

S Vv [ communicates2| SE0{ | Lhow + E/R +5+V

L EATHHOIS BR RS BB/ 240\ BRE o 24t
JA2 OISO AF7|S0| RE07 LOtLt St EXIX|of TSt Z2st HAIXIE HESCh

03 [The sense of worthlness (generated [ in children | by [the feeling of ‘being wanted])] is known known to be

[S: 8] B ENEE PN L 5ENl 58 7o)

. .0l b= =QBh
vital for ~ : ol }_,-.390,_ .

[very vital ffor their psychological and all-round development]. be known to - Ol 2L OICh

psychological : 2| & QI all-round : CHHCHS S be known by : “~0f O[3} Y24M QJCH~= EHCtElCh

be known as : ‘~2 LM UCH
be known for : ‘~2 S &HSICP
be known toR:‘~8l= Ao 2 X ALy

‘doot EXfete SZACERE OO|F0A FdE XELS A9 el MeIA 2o o] XS] 5ast A2 LK UCL A

LA
04 [[OEIENITMETG], [the “I do not matter to anybody” feeling (generated by [a sense of being unwanted
[s] IHEAT B4 L 5ol +58 7
as a result of ~: ‘~2| ZA1t2’
| as a result of [regular and long absence Jon the part of parents]])] has been known to have
regular : 7| &€l absence : XY

repercussion : &2

grave repercussions | in terms of [the child’s personality and emotional maturity].

grave : &2t in terms of ~: *~2| - Of| Af’ personality : 43243 maturity : %
gHHOY|, H=o| HI|H, EH7|IHQl —'?‘—IH9| A2 Aol 2Eash EXZe SA0AM ST Lie £=F0AZ S25HK| ChEte -2 orolo| dAur MA o
5 0] Azt gysle mefsicyn orald Sttt

* repercussion e

; MBI O|AFAESIC] AlZbS) O e - "
communicate ML}, OJAbAS BTt grave Mztoh 2 X2 QoF BEmo| 95 M0| 00|50 X|=Z HMo| FEe =
: o =23 :
worthiness N U, 25 in terms of  ~2| FHOA, ~FHOfA] Of 1S90 Mzint MMA dichy| ate sk ojkict
generate 2HAIZ|CH SHEOILHCH  maturity A= @ Discipline @ Compliment @ Availability
: =038l mWAKO| feeinli s9
vital ot XY discipline == @ Consistency ® Responsibility
psychological delEhEel availability |24, 7184
all-round DHs 9, T Ol consistency  (Ef=.0749]) Lty
absence 21X, 24
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11Z Exercise 02  YIZEFEE  p.070 5882 72X Xots EMn=
prodigy : SXH - HACHEAL Bt A N
= CHEA +E  HIE -7L -8R 2 rich in~: ~7t 288k talent: s ambition : OF - BARFOE) :what + 22 2
&l 01 Although _(_:h1l_d___p_1f_Q_(_i_1g1_e_s are often rich /in both talent and ambition, | [What holds them back |
Ay both A and B [ EAME 0] et F ]
<EBS ¥IZh>
from [moving the world | forward]] is [that they don't learn to be originall.
LHAAD + SHAT vV [C]
LAY -“_-.‘-Ar(EOP“) that + TS H original : &1, FO|XQl
SME0| 28| Mst ofY = Cf BO| A AX|T, AS0| M-S EHAFIX| X6t o= A2 250| ZHHO| &= ©E HIRX =Ct= AOIC,
CEEA+ R THE I
02 As they perform in Carnegie Hall, win the science Olympics, and become chess champions, |
S Vi vy V3
N
something /tragic happens: Practice makes perfect, | but it doesn't make new.
S Y; s v s v
b ~thing + H A} S%|4:4) b = practice
50| 7Y 7|20 SIS & Off, pst S YoM 5T Of, J2(1 M Mmoo & O, st Yo| Ldst=0, AA2 dE52 S TS0 LHX|Z, 120
MZR As TS0 WA= Xottke AO|th
gifted : XIS UA=
cthe+ EEAF: B AFRE magnificent : St
03 The gifted learn to play [magnificent Mozard melodies and beautiful Beethoven symphonies], /| but
S V; (learn +to R) [O]
never compose [their own scores].
Vs [O]
SME2 S8t BXA=ZES| Mg OFELHR HIEMO| uetng AFS= YE HiRX|IT, A3 XpAEe| HE MI6HK|= =Lt
. existing : 7| &EQ|, HESH= .
04 They focus their energy | on [consuming existing scientific knowledge], not [producing new insights].
S \% b EX|A) + EBAT [SBAT]
CERY
O52 Aol oHXIE MER AHE TS0 W= Z40| otLj2t 7|ES| et X|ME AH[S= O HSCh
conform to + FAt: -0l &=&3ICp .
05 They conform to [the cod1f1ed rules of established games], /| rather than [inventing [their own rules or
codified : AE3}El A rather than B [SHAE]
‘B2}7| 2Chs A
their own games]].
d52 A5 XA AAO|Lt AYdS 2SO0 W7|ECh=s, 7IE2 Y d=22AE Ao =St
all along the way : J12{= &2t strive to R : ‘~5}2{ 1 O AACp approval : 21’8 admiration : A& =4
06 All along the way, | they strive to earn [the approval of their parents| and [the admiration of their
Y [0:] [O:]
teachers].
Jdejs S¢ Y 252 f2o 7gu WAte] YEkZ 7] Isi ofjch
* prodigy I XH
biti o A, (NTE o7 =S s s
g e R X2 29 ojzl FMSUA HESE AAS SSBT A
magnificent SES ERES b o oEs L o] mgoto] FOjX|7| WR0| 1SS KISt M2
symphony il codified S E ot A2 oHS0f LYK 28t QICh
compose ARt #4450 admiration KT, UE i
@ critical @ original @ practical

® responsible



117 Exercise 03  HIZFFEE  po71 olxfo| gttHct
curious : 7| M-S 1=
01 Here's a curious paradox.
paradox : &
0710 27|48 = FHO| AT
HEAL+ R YN ~every + EHE T AL = A S
02 If perfection is a state (beyond improvement), | then isn't every moment, by definition, perfect?
s % beyond ~ : ‘~ HO{M & ~& £ gl Y, S by definition : 23| C
BHOF SHHO| S B 4 G AERLE, J2iB TS| Of 222 SR ek
reality : $14 in the sense that(S )+ 2™ H -7t -BHChE HolA
I After all} [any given "now," any given moment of reality] is [what it is] /| in the sense that it cannot be
S] § VvV [C] s v
what + S + beSAF: 2L A b = now
anythlng (othel' than what it is).
other than~ : ‘~0]2|2]"
OME Holl 2= O o X|g’k, 1 offF Sao] =7t 1Z10] O 29| B Qo= 1 ofF Ak & 4= giCh= o0joM 22 29| EfOICH
vas such ‘AU XA 2 J87| H&20f°
04 Take this moment, right now: this moment is already here, /| and, as such,
S Y
<EBS ¥IZk> modification : <=7
as theoretically imperfect as it may be, |/ it is — at present — beyond any mOdlﬁcatlon.
(As) YA BAL (RERANEAL S +as+S+V,
|8 ~o[x|er
O SN o 2
Fof APt B8A HO{E HadtH HEA
5ol SAb7H £4018 BRsH A
O &t X8 &2 o2 S0 EXL o] &=7+2 o|0] of7|of A4, JT| 20, 2Z0| O|E4oz EJAMEX|2t:, DA2 oiXf 1 o =¥ & 4= iCh
- while2 0| A|Z5} 8 (~ing : X) 55 ‘H|Z ~0| x|k 0|21 5443} try +~ing : (A& &roh) ~S =L
F CEEA+E IS -7t -R A lesson ; m& try +toR:‘~82 1 L HsiCp
&l 05 e you could take [the lessons of this moment] and try to make the next moment better, |/
= v, [o] Vs V5 2x0] B0
L malee + BH0| + SXHO|HEA : -8 | BHECH
this very moment is beyond improvement.
s Y
0f2120| O] &7t W2E8 24 OF ¢t O WA 2Ed L8d = JWUX|T, B2 0] =7+2 JHHg & 4= gich
add A to B:‘AZ BO| Cfsich CEAMY S5 (5] fIsA)
06 It is too late || to add anything | to this moment | to make it better.
L AbsSH
48 it Moo + /5 +to £ - A [too ~ to T2 |
*14g -t/ 8179
*HR -ojA % % girt
b=s0 ~ that+S + can’t[couldn’t] + R
O &7t= O &4 2t=7] flof 200 offH Z0J2t= E5l7|0l= HF <AL
EEMem BREREABATAGE (how)
07 [2YiG] if this moment, this slice of reality , 1s beyond improvement, || then it’s the only way (it can be)
S SV g -
(the best it can be — perfect).
J2|n gief o] 27t0], O] SAlo| EHHO|, M B 4 SR, DB 1S 0| T 4 Y= KU YAOICKAHO| B 4 Y= HMo| MEfo|T — 5 g
5.
oA iti Fols Ab
paradox o v defindion, €89, A8 X|g 2% X3 0 72 Mo 2obssint HA 1rjzo
o
Perfemon =5 e Fheoretlcany °|L(°L)—§‘ HEfZF 20| & £ U= 7ot LAO[X} Z|MO|CH
improvement N, akak imperfect St 40| AUe
@D doubt @ argument @ evaluation
@ restriction (® modification
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walking stick : X|ZO| staff : &2, X|ZO|  on the go: A% YsH=
01 Long, long before smart phones, | a walking stick WSRO pOT) staff | when on the go
S LEZAE HAE AR
b =when we are on the go
AOFEEO| 7| ofFe:ef Hof|, X[Zol= AL S22 I 229 Ex{ O|RACt
ultimate : 3= 21, 19|
02 |A good walking staff] was [the ultimate assistive device].
[S] vV [C] assistive : =&0| &|l=
HE2 B X0l =50 &= Z1o XYL
R ENE-! regain : E|“Ef CRA| T}
03 If you misstepped, | the staff helped you regam your balance.
s v S Vs =40 JE
misstep : &1 C|C|CF L EASSAL + E"‘Of + EJHEf’f(R/to R)
2t 02 20| 2 AHCICIH, X[HOl= 40| #HES =S & AEE EF2 FUCL
ESA ZHEAR IR TAR A AP B8 25 (317 SPBA)
04 If you became tired, | the staff was there | to support you.
S % S \%
2t of2{ 20| mZeiX|H, X|HO0l= oS X|WSH7| Lo AUAUL.
probe : EFAL S E~Y NS unfamiliar : %M
05 The staff offered [the benefit of a probe] | if you needed to explore an unfamiliar object | along the way.
\Y [O0] S %
need to R : *~G{Of SHCH
2t o2 20| 22 7= =30 ®M SHE dmz 7 AW, X[UO0|= FHAS| o|HE M3 FACL
YN P ASA+E ford : AL Ct
06 It could be used | as [a gauge (to test the depth of water)] |/ if you had to ford a stream.
s VEsH) LA 2 Lo SEA gEAE 8 v
gauge : 587| have to R : *~fiOf StCp
Y of220| WES ZOM HUHOF oITHH, X|F0l= 29| HO|E &Helsl= 5F7(IZ2 AHBE = AUULL
CHEA R commit A to memory : ‘AS 7| 4SICH notch : 7| Z3|Ct
07 If you needed to commit something / to memory, /| you could notch the information down | on the staff
s v S v b x|Zo|
the same A as B : ‘B2t Z2 A
| more or less | with the same ease as we do it | with the flash-drive memory sticks of today.
more or less: Cf2, A9 with + EAHAL = BLA} .. b Lj S At = notch ~
with ease = easily
2 o220 OffH A= 7|Yo) 5 LRI} UOH, 25| FA| E0|EH 22| ABOZ 227t AAE St AEEE 7|=E5t= Al AHel £20| A o
55 guE xmo] 90 JIss & £ utt
if necessary : S EEATE  ‘HRSICHHE"
08 if necessary, | a staff could be readily used | as a weapon.
V(EEE) LHA| A 2
Jd2|3 ok EedittH, X|FH0|= AR F712M ARBE = AL
<EBS RIZh>
o9 EAINGANEND, the staff helped clear the way of obstacles.
V clear A of B: ‘A0 BE ®|A3tEl
all in all: CHH| 2 help+R/toR
M2, XE0ls ZoEE MAsts o =82 FACL
*ford ZOJA AL} ** notch 7| F3ICt
st HE TE A0l more or less 74 X 9% ADIEZO| 7| MY, X@ol= SNY I L2/
i £kl i C o =
ultimate | all in al = do2 TiNZ, WOYSS MASHE O =22 FUCt
probe ErAb clear ~ of ... ~0|Af -2 RI7HSEE :
commit ~ to memory ~2 7|&}C} obstacle xof2 @ improve your memory

@ respond to complaints

@ explore a new territory
@ enhance leadership skills
® clear the way of obstacles
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s
ra
=
4o
min

01

N D"AP‘* M A|- Ex-l()PH - that + 2t& sh x+

You maV have heard or read [that Laurence Olivier was Wldely believed to be [the greatest actor of
S ; \% [O] S i £ EEf)

TRE AL+ have + p.p.. People beheved widely that Lfaurence Oliver was the greatest actor of the past cen_tury.

the past centu . B 5 SHolo b =SEf1: That Laurence Oliver was the greatest actor of the past century was believed widely (by people)
p I'Y]] * should have p.p. : “~310fOF 2HCH ~2HQIS AO|Ck L =SEH2: It was widely believed that Laurence Oliver was the greatest actor of the past century

* may(might) have Pp ~UAASK E REC) L 2=SEfi3 : Laurence Oliver was widely believed to be the greatest actor of the past century
*must have pp. @ ~AEH SEQICH

*could have p.p. : ~& ? AAUCH

* can't(couldn't) have pp.: ~HAS 2|7t gick

Ol2{Z2 OOt Laurence Olivier?t X[t A7|9 7HE 2(CHSH BiRRCH 22| RO{X| 2 QICHa O[0F7[§ E7LE 20|M 8RS HOICh

02

OIS ABXONRIZ : O+ 5 + 5
CEEA+E -one of + (A|4F) + 24 HA - B ’%01’2) how + et 2
I when you see one of his films, |/ you may wonder [how that could be].
S \'

\ [O] L’ IL* Al7|e] fitiet B2t 2OoX|= 2

C

ni

J2iLt 1o HotE of # =0 ofgiE

rlo

O.II:

7 28 + ASK 3= Ao|th

Of

03

assessment : B7t p ) F2 alive / living : X
This assessment comes largely | from those (who saw him perform live).
S A~ V5 Exo| EX
LEZEEAL + 50| + EHEO(R/~ing: 55)
Ol H7= Oj7f 17} 2fojlEz S¢dt= A

fjo

= MESEREH 2t

(=

04

CUEEA 22U HARAY P 20| 7 thrill : BZA|7|CH LA
He was an amazing and brilliant technician (Who took big risks and thrilled audiences (far enough away

S \ TN Vi V2 S 2 AHELA} + enough + to R
enough + FAt +toR /

not to be able to sense his technique). E:O}E;;H S
sense : ZEX|SICH .

g

b

of & FEXD AES FFAAE sHIE S5 HIALUMIR7F HOT AFRHOIAEL

mr
e

ASS iRt 9l

mjo

de 19| 7hlE A + §

mjo

05

rarely : £80{) ‘A2 ~ X’ pEHA RAL look + @& AH(E0])
He rarely reached that impact | on film (where his work sometimes looks calculated).
S \% =441~ b his work sometimes looks calculated in the film b kA EAL: FH|(his work)= A AE| &= ChAre
b=in which
Jof 7|7k W2 ALE AME 20|z FlojM= O 2utE Aol FdstR| =R

06

............................................................................................................................................ so[such] ~ that + 28t H
»one of+( | M2)+ 55+EA N ‘OFF ~ofj M --C}

Richard Burton, || also respected | as [one of the twentieth-century greats, | had a voice (so huge that
S b ®K|AD -2 g~

it would sometimes overwhelm [the camera, the microphone, and all the intimacy of film acting]).
s v [0] intimacy : &2z

X|Qlst

=20

mjo

AA| 204719 QICHt QI & StLtE EZTE Richard Burton2 =A2|7F HRL AHM A2 M2 702}, 0t0|3, Fgt ¢7|e] = 2=

rn

07

maintain : —’F’é!é}q
{SAHEHO ) : that + 2HHEH H

=

To this day, | [many audience members and critics] maintain [th // if you did not experience
[s] Y [o] BECEONNE:

<EBS HIZ>

[either of these men | in the theatre], | you did not experience their magic].
>either of + A s v
L either + CH= AL

QEWIIK, B BT BRIHSS 0f2f20| o] ARS 3 o= 1T IO FHOHK| YUCHH 150 py

njo

EERD

&2
rlo
Pl
o
v
k1
I
oA
5
I

assessment ot overwhelm

x|-v-.9Ot Laurence Olivier= SH0IA =& CHERDSH ¢7] 7|

[padlin®]

= 20 FA=H S=loM= ol 1o A7|7f Cia JAGA

brilliant 28 intimacy
technician 7|

okl mo

N
-_

o AR critic

o

QEHI LIAX|H Richard Burton YA| Z2A2|7F A F3t9|

thrill

-
[0k
ot
i)

et maintain Ftoi2tet Oto| 0 REK| eiotct

@ on the film @ in the theatre
@ on a regular basis @ through your emotions
® in their mother tongue
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growing : 37}SH= segment : £+  humankind : 91&, @17t inconceivable : 242 4= Ql=
= <EBS #IZh>
2l 01 [A growing segment of humankind] has come to see war as simply inconceivable.
g [S] \Y% see A as B: ‘AS BE Of7|Cl (be HOE BA/B BT 7}5)
come toR: ‘~S}A £|Ch
MY O %S $0 AS0| HYS MUK YYE T 4 gis HOR 0)7|A| Houc
CHEA+E
02 For the first time fin history, | when [governments, corporations and private individuals] consider
[s] v
immediate : & ESH 717k, 2 QI likely : (2O1'e) 7bs50I Qb=

[their immediate future], | many of them don’t think about war as a likely event.

[0] S Vv b FK|AR -2

SAHY MZoE, IR, 7|9, 2|1 APRQl JHRIS0| AHIEC| JPR OIfE nafg M, 05 5 B2 7t H™E Yold 71540| Uz AHAQE HZISHA| @=Lt

tun A into B: ‘AS BE HIRLCP collective suicide : &I THAH&

03 Nuclear weapons have turned [war Jbetween superpowers] into [a mad act of collective suicide], /| and
S Vi [A] [B]
alternative : CHOHO|
LSO forced [the most powerful nations /on earth]| to find [alternative and peaceful ways (to resolve
V5 [2H0] 22X HO0 way toR:‘~Sh= 2
Lforce+ SHO| + SHHEO(toR): ~7t ~St =& ZR3ICh resolve : S| Z2S}C}
conflicts)].

conflicts : 2

89| EACHR Afojo] MBS FEHH ApolRke DX WEOZ HIRQIOD wabd XTael b Z2s IS0 LS HHAY Tiot0| Ee WOl 4o

2 %S +90 gles Wy

simultaneously : SA|0f| from A to B :‘A0|M B2’ ;

04 Simultaneously, | the global economy has been transformed | from [a material-based economy] into
VEEEIF2)) -based : -0fl 7|82 &

[a knowledge-based economy].

SAol, MA = 220 7[Ete & ZHESEH X0 7|Ee & ZHE H2CL

previously : O ¢l asset : KHoF
05  Previously | [the maln sources of wealth| were material assets (such as gold mines, wheat fields and oil wells).

[s:8 vV g - L RRIAY) ~ef 22
SNBSS
[Hofl= £of FE e a8, g 12| 242 SEXQ AHto| Ut
AL+ ® o -7p-0l B conquer : 2 B}CEH
06 Today | [the main source of wealth] 1s knowledge. .51 whereas you can congue r oil fields | through war,
[S] oil field : FZ1(h M)
/| you cannot acquire knowledge | that way.
S \Y - = through war
esd 7o FE V2 XAMO|Ch O2|1 20| HYES S /RS 2 = UK O Y40 XA g =ASE = QU
CHEA+ - ~7) ~B O mEp profitability : <=2}
07 IRE1Y as knowledge became the most important economic resource, | [the profltablhty of war] declined
S \ \%
increasingly : & X} PR BAb+ RS H
/| and wars became increasingly restricted /to [those parts of the world (where the economies are still
S VESE) it A (&4)) - brthe economies are still ~~ in those parts of the world
b=in which

old-fashioned material-based economies)].

old-fashioned : T+41 2]

kM X|A0| 7k Qo AHMAel Mol Eof mat H-e| +=d2 oy M2 FH7F ofTs| Ao 22| 7[Bte & ZMY MAS O L& KXo

B P A &l RACH
segment 2=, 7= material-based SHO| 7|BE = 2 QOoF XAHo| mjq|d "

: . = H=L 25| =2 o| A xH
corporation 719 previously (ofpskel] il 29 - | J-|.|'J_| Ol —l‘r |' 7‘|A'| ;:ln_ 'H‘E—l |_I<z
immediate Ihite, B2tx9l wealth C = 22 & U =l Tl JHMtEE dHAel o5
nuclear weapon a7 asset KAt O] ARZtX|Z @549l FXN&EQl 0|52 X|A0A =Lt oo
superpower xZ0= wheat field 2 ozl H8 O B2 o 2RIt HdE JdXX} S| Y=L
suicide RS whereas ~0f &Fsto] ]
alternative CHoH= Ol conquer HMESIC} @ accidental mistakes @ simply inconceivable
fesolve s zsict profitability ENCIPR @ irregular occurrences @ business opportunities
simultaneously ZA[0] decline Ztasich ® unavoidably necessary
transform BIDA|Z|C} BHICE  restricted Mgl o E
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oF

I--I E|o| 7HI_=|

>
J

= mathematical : $=5}2| slippery : O] 124 X| =, LpOfs5H7| e
gl 01 Mathematical truth is a very slippery concept.
2o Flzls 0he mepelr| BE 4ot
: not A but B : ‘A7} OFL| 2} B’ CHANE HEASHOE) : that+ S 7.;_;:‘ b that A4k
02 This is not to say [that it does not exist], | but rather [that we cannot be absolutely sure [ we have found
LAY HEAEHONT) that+ 2B V. Tobe sure: EAIELH [0]
P EEAN+ A <EBS HIZh>
it /| simply because we have an apparently logical proof]].
b = mathematical truth s v apparently : 222 & 7[0] proof : 57
logical : +=2[& Q!
Ol AZAeY Ta))o| EXEHA| ff=Cths 20| OfLal, ABChs, TR R2[7F ZE7|0= =282 SHE A=t siM DA(FSH Ta)S LAUCt 2oy
Hog =iilg = gick= ZOo|Ch
»=when they check ~~~
CHEMNE UHE SERARE lengthy : 7! argument : =7, =2
03 People make mistakes, | particularly when checking a single lengthy argument | repeatedly.
S v
MEEE dE ot=h|, 53| o™ stLtel 71 =25 YHEXoZ ol o ™Y
statement : S|, Tl make judgements ThEstC
04 |Our knowledge of the truth of a mathematical statement] depends upon [makmg judgements | based upon
[s: =] [SHAT] S EARE FA A
depend on[upon. ~0of 22 Qlcp be~ofl ZHBHA”
appropriate evidence].
appropriate : & =5t
Fah(Ql) HHe| Z2lof Thet R2(o| X|M2 HMHES M| 7|&St THES= Ao ZE QACTH
LAl numerical : X2
05 This ev1dence includes [proofs of the type (presented /in text books)], /| but may also involve [numerical
Vi (0] LIARAT X3 V., [0
S geometrical : 7|SketE Q1 consistency with ~ : *~2}0| LX|’ intuition : =12+
calculations], [already solved special cases|, [geometrical pictures], [consistency /with one's intuition Jabout
[O] p.p. [0s] [O]
rElF
the filed], [parallels /with other fields], [wholly unexpected consequences (Whlch can be verified)], etc.
[Os] [0s] e TSEF2
parallel with ~: *~2t2| SAtsl consequence : 21t verify : 24SSIHCt
olgfet SH= WM MAIE i3 (BEYO) SHSS EASIX|D wot x| A, 0|0] eiZ & S0t Z2, ISkt 8, 1 2Ol CHS ofi Atgtol Xzt
o IX|SHe 2, CH2 2ofet QARSH A, AT E 4 QU= 43| oAk Fet At S mEtE 3 Qick
try + ~ing : “(A|&40h ~sf 2 Ch
= try +toR: ~°t313'- 3 be based on[upon] ~: ‘~0fl H}EHS FCp variety : CFd
i 06 Mathematlclans ﬂ to increase their knowledge, /| but this knowledge is based based more | upon [the variety of
= HRTPE S
independent sources of confirmation] | than upon logic.
independent : &2/ Q! EEEY -
4RSS KHAISO| X|AIS £0[3{D L 2BIX|DH 0] X|AI2 =a|mrts ofgf 7K SYE 57| (=S| O oEsiC,
; Iporsty| sl= 3| 9 =% s oiChS ] =
slippery A7 B AR parald g e XE 2% 927t +2tK TS WHRIEE S B7SS &=
Mgl MA™o ey
absolutely Sl RS whelly JJEI, dHo= 2| MO2 HO|= Z7{#0} ofL|2} OjL CHYSH ofg] 71X =2
argument =2, =4 verify aSottt E 34 MESoA QlEStER 5t TE|2l= 40| metst
statement YA, = source =A, #H 7| sl= J§Eo|Lct,
numerical caleulation =X A At confirmation s, &5 P .
: SimiE ol = (D an apparently logical proof
geometrical 7|5tetH el apparently 2e7)0= @ diverse analytical approaches
consistency YKSt= A, e proof =7 @ many definitions of hypotheses
R @ a mathematician's logical argument
intuition =z

(® different experimental environments
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A 2

A 2

A 2

01

Easye]|
T A

e e
b make + 0| + E’“EW(?&E*}) (B A BELE
Folo] 227t H X3 5 A UE=TR

02

YN imitate : 2 2FSHC
In one word, culture — our ability (to learn | from others, to copy, imitate, share, and improve).
ability toR: ‘~ol= &2’ 5

SHoC|2 2o, JAA(Eeh2 BHE AFSZRFH e 5 s, 5 M, 2YsiH, s/oka, gddks AS Bie + e sHOIML

>

03

Al
=
0O

e
When humans learned to communicate / us,lng oral and, later, written language, | [ideas, knowledge, and
s v oral language : 701 written language : =01 [S]

olr 0H1
r-|r[ o

CEEA

Ho

practices] — how to make a fishhook, build a boat, fashion a spear, sing a song, carve a god —
how toR: ‘~8H= W’ / what : X carve : ZZtSICH

could replicate and combine | like genes.
Vi V2 b FR|AD <K E
replicate : SA{|SICH

P
Ok
K
0zt
mjo
2
uin
=]
H—
R
i
I
[
=
ot
rlo
r=
Io
3]
o>

04

. from A to B:A0f|A BE distance : H2|
I unlike genes, | they could jump | from one mind to another | across distances of time and space.
o TR -k EE S \Y b = another mind
b =ideas, knowledge and practices L the other : X
SHX|EE [FEARM= F2|, AAS2 o AIRIOIAIM CHE ARIOIAIZ AlZtat S2to] A2 7I28E| FolgolZ 5= AUUCL

05

<€ssyz> . biglogy:g‘%(i*),%‘%%% evolutionary Z213H9]
Culture freed humans | from the limitations of their biology; according to [evolutionary biologist Mark
S Y, limitation : SHA| L X| AR ~of 2
HEAR+E momentous : SLHSH  shift: #12}, 0|5
Pagel], /| when humans discovered culture, | they achieved a momentous shift | in the balance of power
S % S \%

LAl b = humans

(“between our genes and our minds.”)
between A and B

TS SRRl Mark Pagelofl M2, 23t LHYS M, A2 REXLL F4l Ao[2) ol Tl

06

LA how toR:‘~8t= W’ / what : X Ay
Humans became the only species (to acquire guidance jon [how to hve] / from [the accumulated knowledge of
S V2 Lo BRALS FRAFM g pp.

accumulate : Z&{SHCH
their ancestors], | rather than just from their DNA).

A rather than B A

:BEH| ECH=E A
IZt2 EHX| ZHAO| REAZREI) oLt ZHE0| £

rot

P RIMOEEE Af: %) T oS S5 RU F0| =t

* replicate = XSt

adaptable

k)
met

carve

4>
30
rr

imitate

Qx| BHHE I=n Al
O

—
momentous 7_” 5| |'
AN .

practice

e

guidance

fashion

(=}

r. o

mn o> oZ oo
Ot
n

Ht T2 o A
)
e
1=
Ok
=3
1o
X
A
mjn
_|_H
<2
Ol

o D social isolation
o|-|:|' .
@ learned social roles

0
ikl

accumulate

@ difficult manual labor
@ the limitations of their biology
® the lifestyle of hunter-gatherers
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ignorant : X5t

01 Mark Twain observed, “We are all ignorant, | but about different things.”
S Y
observe : ZHEFSICH =50t ST}
“R2ls ZF FX[GIC, oot M2 CHE AS0| CHSiA."2H2 Mark TwainO| 2HRUCE
»=when they write ~~
= ;A HBAE HAS SSEATE
2l 02 One mistake (technlcal professionals make | when writing | for non-technical readers) is [assumin:
T S(EHe) e vV [SEAMT EO]
P M A} that M 2F knowledgeable : X|A]0| 252 - =technical professionals
[their readers are as knowledgeable as they are /about the subject]].
s e BEEH|R - L CHESAF=are knowledgeable
HIHEXC SXE Q6 22 2 W © 2771 MX|2& o JH| 5= ARle] SXS0] I FH|0)| Chs XHUBHSO[LE X|4[0] RUCtn F7¥Sh= 0|t
- result in+ ”Ef ~2 ZSOofLCh
fatal : X| X QI r R F4 sresult in+ 2}~ SHEOJLHCH
03 This is a fatal assumption (that will only result in [confusion and frustration | for your reader]).
POt confusion : =2+ frustration : ZH&
0|2 Of2{=o| SXo|A =gtut ZEZ JHMCHE #0Ql oFF BRE FOo|oh
a great[good] deal of ~: ‘() B2~ ~spend + A|ZHE + ~ing 2 —’f%EH
WS Also ! [a great deal of your time] will be spent t | generating [additional messages /to the reader] |
[S] V(+EEfF2])
PSEEATE  SAYE RN > should have p.p. : ‘~3010F RCh > FZ&AL + have + p.p.
trying to explain [what should have been clear | the first time]. “should have pp.:*-210{0f ch/ 51 ol
Ly +toR:~313D LSk LBACYEA} ~op— 7 *may(might) have p.p. SRS = RELP
bty +~ing (AFHHON ~SHELE L HAME(BHOE) :what + SRHE H *must have pp. : ~EAH SEEICH
ol KNSEE| SO6| HOOF B A2 Mueta{n OfMBIA SX0|7 Hhs ZPNQl BIAXIS Bgeper|  fcould have pp. - 5 QIR0
of 2f20| Alzte Ero| Af2stA = 0|t} * canit(couldnt) have p.p.: -3 %S 2|7} giCk
—
05 [Just because it’s clear to you] does not make it clear | to your reader.
e+ 2501+ BXHOHBA B A 5
>OEgORE RAT XD - 2 ool 25| o0 wilo] 90| LSE HSE BAR il ATENOR Foit g &
= A0 F0{7t &= AN just because o| ojojZ JEHE AP{M CHX| -2t oHA‘I 3l oS B1=0| We Hool = «Tz40|
OfZ/017| EFSICID 814 Oleize] SXUPE J1240] EUSTHE 2L OFTH'E U T2 $A F0I2 HEATD BH &
J70| of2{20l|lA 2SIt siM o222 SA0|A = 1240] FHSIEH= 242 OfL|CE
CHEAL+ A LAl
06 If you are an engineer or accountant (writing /to others (1n your field)), |/ then perhaps there will be
s v accountant : S| ZAF L ST EAIL EX|2A Vv
N
less need (to explain all aspects of your message).
S need toR: - HRM
Of2{20| XHAO| 2Ok A= CHE MEOA 22 X 7|SXIL AAIRRIH, O3 ofot=: o322 HAX[S] B= HHE 2HY B+ Y ZAOoICh
CHEAL+ A the senior vice president : &% familiar with ~ ; *~0f| Xl=5b
07 If you're writing | to the senior vice president of marketing, | who is not familiar with software applications ,
v LEACNEALS] AISH Y = W& AL+ LHEA
b, who(FZ) + SAL~: 0] AFRHO| ~~
/| then you will need to “walk” that reader | hrough your message.
Vv walk ~ through ... : “~0f| | .2 2 H3IC
0121 20| OiAIE 2E0| 4R20AH 28 LA=0 1 A0l AZEY0 &8 T2 =6kX| ttH, 28 o2iZ2 1 SX0A ol2Z2 HAX|E k22X
28 27t A2 Ao|Th
= CHARE H &AL 211017(-1 that+ 2HSHH <EBS HI7k>
2l 08 Remember [that / when it comes to technical knowledge, | writers and readers are hardly equal].
= REYEE) [0] DRI A) < -Of 2o hardly : £7801) ‘A2| - X
HEXC XAMof 2ot o, AXtet SXt= T8 SSOHA| @t A2 7|96t
L1, 0|7{S) OH}C| Sl AHAS
i LW' SRIEOHL. geente fe L 8 Ag2g HEse FA0l el 32 & 10 S5 UTes)
assume *ﬁOPEh YZISICH  seniorvice president A=Al AEE 10 XMSHA *é”:c"qéfaf.
knowledgeable X210 A= application S2o2IH A i
KRG TR O - N o ma= (D writers and readers are hardly equal
fatal ) ?_l'; ARE, XNEH walk . thI'Ollgh 01|7'|L _‘_E_L%}‘OHTEI' ® good writers come from good readers
conqul(_)Il =g when it comes to  ~0f 2ot o @ readers don’t necessarily trust writers
frustration S| @ writers and readers have the same purpose

(® good writers don’t tell their readers everything
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[

p. 074

<2mo|E >0 217 g9l

A 2

tremendous : & R SE
01 Spider-Man was a tremendous hit | with readers | because it gave [millions of teenagers| [a hero
s vh o [~0A] [~E]
;-> bl xw + BACHHAL + TS
Y(with whom they could identify)].
44 < <gBs WZt> bthey could identify with a hero
<ATHO|C > 2 =HIBFO 4 CHSO|A AHMED SAIY 5= AUE S HARNY| HE0| =X AN AFH S|ERACE
jock : 252 BO| 5= At
02 [Jocks and cheerleaders| didn’t read comics.
[S] Y
252 FOIot= BAOIOIS XO2[HE2 TS SIX| BRUCH
introspective : LI 3% the same A as B: ‘B Z2 A"~
03 |[The quiet, introspective students| dld the same type of students as Peter Parker, the main character.
'—vEHEX} =read comics
FOIBO Peter Parker® YU SOl SUE, TT LhATIQl SHMEO| BIBtE Qiit
ongoing : Al% XEE 0l
04 Splder -Man was [the first ongoing, reality-based superhero comic].
Vo [c]
<ATHO|C > 2 X[ZR0| ASIYM (A2|=2) LZEIAE oMo 7|20 13|02 I RiCt
artificial : 2152 AR B S (01| fIeAD)
05 Peter ould swing over buildings, | use his artificial webbing | to catch a pair of bank robbers, | then
s v,
return A to B: ‘A Bi I:1|E:|I:}"I:}
return a missing animal | to the z0o | as part of a day’s work.
Vs L H[ A -2
Peter= g AMO|S @EIEE = QUASH Apalof Q1= TF 0|80 & &o| 2d =58 T2 = ofF dito] 2F2o=2 AOHE 555 =0 Ht
5 2RI,
pEy F sew : HE= STt
06 JEI in the evening, | at home | with his Aunt May, | he was the one superhero (who needed to sew
S i A
B 242X (-517| 9[BA")
the holes /in his socks, take two aspirin for his headache, then watch the TV news | to see [lf there were
\Z V3 LEHAE HEAHSH 0 H) -
L if / whether + 2t st A -
any reports /about his exploits | earlier in the day]). R ObeAp
exploit : 35
it ME0l= May OI29f ol oM S0 TS HOWOF R Fso2 OfAIE & Ag HOOF R4 I8 COhS 2" 2HO| QA Ahlo] S0 o
o o Beof QIOFER| Bayl TvE AIMEHOF T CH SIS HIHO[Of 2 KLY,
*jock &= HO| St= EHX}OO| ** introspective i< Q!
pemendous - FE robber @ X2 0 (ATO[HM) Dt gt [ o Of Bads A
mam‘ character e a day’s work 0|’T%| 2t O|OIM QHLIH 3S|EE 7|2CE 0|9 ZF0IZO| Ppeter
ongoing Zlst= one St Parker7} Ol= LHAIEQI HAEKME ZOAM A48H AAS &
reality-based oo 7|x3 sew HIojct e =23 olo|2AM ™A HAUEEO| XpAlo| m&Df H
swing over ~O| AtO|S 247HSICE  exploit 3Z, 35 =5t KAl SAAE 4= Q= Q1E0|27| IEO0|RALE
ifici RIx9) identify wi ~I} EQAJSIC
amﬁelal . | identify with b SLAISHC @ whom they all resented
webbing H== ) mre @ to whom they should listen

@ whom they could not imitate
@ with whom they could identify

(® who could be under their control
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11Z Exercise 11 YIZEFEE  p.075 MEL HZ0] oo NK= L
E SEEAb+ E H| 2 -7} ~8R| 3 similar ; H|==8t simplicity ; Eragt <EBS #17H> rule : X|HHSICH
=l o1 Although [height and weight] are similar fin their simplicity, |/ they are very different in [how they rule
= [s] LR  HASHOYRE
o+F+E
. HAIME2EHHA ¥ ko
our lives]. LRIAVE(ERIOJE) : how + SHB E
A HE2 HestoMe fABHXEE ORS0| O{EA f2(2 deS X|HiSt=X0f A0M= 0L CE=LC.
~Of Chsh M-S X|ep
,—>=-|'71|EHD’|A}M|E* be held responsible for ~:
02 Our adult height is fixed — there is little ‘(one can do /about it) /| and short people are not held responsible
N ~a- S v
R little : S£H0f) ‘AHQ| ~ X’
/for [thelr height] as well as for [their eye colors].
B as well as A
: A0} OFLI2} B=not only A but also B
2o gl M2 Lol 1 I ofsf 2|7t 2 = A= A0l A OM F|7F 22 AFRE2 059 & MZ0| oAM=t otLat MEEFN0I thshM =
folo] QIx] SIc}.
03 Welght LOTEYER, is another matter.
V  bthe other: X
JdejLt §E2 = ChE =H[O|Ch
bombard A with B : ‘AZ BE I{2LC} P BEAHEH) : HAL + that + 2 St will power : |X| nutrition : ¥
04 We are bombarded with the message (that we can control our weight | through will power, proper nutrition,
s V(+EH) LA s v
and exercise).
f2l= oKX, HEs I dF, 252 SoM 22 MBS ZEL - Utk HAIXIS SME Z2 UCk
enormous : 7 CHSH
05 The diet industry (which includes diet programs, diet foods, and diet magazines and books) is enormous, |
\Y
revenue : =2 cater to: ‘-2 70| 0ff SEFCP N
with revenues of tens of billions of dollars, | catering to an American public (desperate to slim down).
LEEENTE LYBAT 2K
L =as it caters to ~~ desperate toR : ‘~SH=L Eaksp
CIO|O|E At (0= CIO|O{E 22 CIO|O|E AIZ 2|1 CIO|OjE TK|QF MES ZESICH AL s S 7HEs| Asls 0|2 S0 Yeksio] 4ol
2o +9S TN 2ot YFELIL
PRy F T~
06 We h p at grocery stores (fllled with food (that 1snt food) || and exercise at gyms (packed with people
CEARNT 3HEY s Z LIHEAT 3R
.‘1»4\ . pEO F
(walking furiously | on treadmills (that take them nowhere))).
LT EALT SRS Al o~ nowhere : £80]) ‘O{C| 2= ~ X’
$EIEr S40] ot SAMez Jt5 T AREHNM 212 A OS2 OCIZ: HHUFX| = MM O 0] 2= MREE 715 & HS2oM 2
=30
scale : X2
07 Each morning | we step onto the bathroom scale /| and measure our progress or lack thereof.
S \i V,
e opel R2l= S4ol HBA /ol MM f2l2 TIH Ee= O BIYTIHEO| YPSHE et
*revenue 2| ** thereof 1749|
Y SRR dimdon 2420 XE 20 NI HES ErEsiTR 1HE0| 29 M
b(?mbard SHME dtef, H ZCt pac.k 715 "Lt QIStS ZL OFALC [Q [CIE 4 Qlom, Jjolo| xolojzta
Vﬂllpéwer 2™ furiously 0jF X0|, ¥l SNA SHR| gt AEDE EE| ME2 M2l dE &2 2
nutrition Iy, Y treadmill 2{ gl SIA A™EICH= MA|X|S] SA|E Ol {2 _7.57‘2*"'}7| 2|5t
enormous 7{Chs, atohst scale HEAH L33 Bio| siCt
~o| FLOjof ¢+=C 5
cater to |:LL lOiL w rule KIEHSHEE @ how they are measured
desperate {HES| Jsh= @ how they rule our lives

@ how fast they may change
@ what they are designed to do
® how they respond to exercises



11Z Exercise 12 YIZEFEE  p.075 Hto| Hdsl & Eed

PR F
01  There are many authors (who have been published | for a long time || but have not been able to increase
S i e vi(TSElF2) v,
their readership base).
readership : SAIS
QEUSO AES U AR =X 7|8 5 5 AUE B2 HAESO0| ALK
~one of + (R4S + SFBAF: T3 2 CREA+E formulaic : ‘H& 2}l
02 One of the main reasons is because they have become too formulaic.
S(Eh) V S %
Faot O|f & St 30| HF Yt Rd7| W=0|Ch
stifle : SIfX|CF YN cby ~ing:-BORM ~BfM: Y'Y, TS LIEHH
03 They stlﬂe their ability (to gain more readers) /| by writing /| with [the same tone and same overall premise]
S ability toR : *~8}= 52’ premise : T A|
| over and over again.
JS2 HH=E5t0] S Yok O] RQf MEMNMO R FUSH MM E =22 S2EMN O B2 SXES &R &= Us MAEQ sHE sHEICh
connect to ~: ‘~2f AZAE|Cp PRHEA+E 0ok -7} -SR] RECHEH’ view : 745f, 2
04 They cannot connect to more readers | unless they expand [their own views and writing topics].
S \% S \Y [0]
expand : EH&SICE [ expend : 2H|SICH
ds52 a5 MO Aot Me FHE &8s = o o B2 SXto|A d4E 5= gtk
P EHAPE HEAHE M) : that + QHEH attempt to R : *~6t2{ & A| =S sICh
05 That does not mean [that they have to change their genre], /| but they certainly need to attempt
S v 0 s v s v
L= 8 xpAlO| Aol M ¢x1|%[z+§];6rf % - B 2H7
to improve upon that genre | with each and every book (that they offer | to the public).
L each/every + Bt A} A -
JP%%E%OI =9 ¥EE HHYOF oitt= A2 Q05K = AP, OS2 &Y S0 M3stk= o= Moz O FEE o R dt2ls AZE sfof & 2R
7479l
CHEA+E »=franchises or television shows
06 Even when you look at popular movie franchises or television shows, |/ they run their courses |
S \ S \%
run one‘s courses : =S CFSICtH
after a while.
Of2{20| Q17| U= Ao} mEMALO|=Lt HYH|IH 45 20 StEate, IAS2 L0F 20| +=FS Cioich
H/% SAVLEOIE HRE S HBAL/ $A01B B R opE RAp
= »no matter how = however(S g2 A AL /5 + S +V : ‘OFF 2| ~7} ~SHCFl = <EBS #17h> . . .
%l 07 No matter how successful a writer becomes, |/ they have to change things up from time to time.
hy from time to time : 748
A7b) orRE| dIottt =, OS2 M2 O|HXN S HHYOF BiLt.
08 Don’t believe me? Take a good look at [some of the top authors /in the game] | and see [how they
Ry(EHE) R, [O]
" Lzmoes  waEHol
. [o] =, =
have done that very thing]. L AR HOT) how + 28
LHE BX| Zohlerk Y72l 20 27t SRS & AmED 30| ofEA Hz O 25 3 e=XE 2t
* formulaic ESFEl ** stifle SHKX|CH BsiStCt
i 71810 STOIT -2 s = 5 5
pubhsh. i;j PEXE.O_Oi f 1mpr0ve‘upon Aemﬁjjﬂ oPEt X2 QOoF Qai=ot AZS =715l A20|c EF5tD =X
readership ;Hf:,o—. tof == run one’s course —ro[Q.;] CHotct 0| —7(| e AMHIELS HE HYESIEUT| MZ0|H, M2t
overall Her el in the game 3 A= 0RO M 0|2 Etmsla{= 20| Zesict
premise | change up (Ph15E7| L{sh) BHRCH D have to ch i from time 1o fi
expand §||'7g‘40'|-|:|' (L have 10 change things up from time to time

@ won’t try genres other than their primary one

@ are not always good mentors to younger writers
@ should check facts before publishing their books
(® never know how people will react to their works
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Fo 2N

effective : 20 QI particularly : £
A HEAL
01 Feedback is usually most effective | when you offer it | at the earliest opportunity, | particularly if
S \% S %
objective : FH, 5
your obJectlve is [to teach someone a skill].
\ c
[ L.]Dupa g8 50| (-8t )
mE#ME 95 o222 FHO| +7tofA o 7|&S2 7t2X|= AO2HH 75X #e| & O Yeyoz JiY 2ubHOo|Ch

o2

» what : X
rESA R PO ZAb+toR:~OHE WY
02 (A IREREMR, if you are teachlng [your friend] [how to make your famous egg rolls], /| you provide
(=074 [-2] s Y

e oo

[a step-by-step commentary] | as you watch your pupil.
S \
step by-step : THAIE @1 commentary : &Y pupil : | X}
OE =9, of20] HFoiA XAo| 2ET 0|AES E= WHES 712X UCHH, of2f22 Ao MAKAIHE RFHARHM CHAXOl dYS HIetch

i}

mjo

leave out : HHX|SHCH

CHEA CHSA R 7 R CSAE 8Y 2T
03 If he makes a mistake, | you don't wait / until the egg rolls are finished | to tell him [that he left out
s v s v s v LA EAAEHOE)
be finished : 2 LtCt that + 211 3HH

the cabbage].

cabbage : 2HiZ=
7t A==E SHH, o222 o|2Z0| 2 W7HX| 7|CH2|X] §n D0|A LHiFE WERICID TSHC)

immediate : 525 0l sequence : ALY
RN 8% B (57| $IAHAD)
04 He needs immediate feedback / to finish [the rest of the sequence | successfully].
S Vv the rest of ~: ‘L}H{X| ~

LIHX| HEIPEE 43H22 07| fIshM JoA= S5l ml=Hol HRsiet

sensitive : Of| 219k BIZISE upset : E&tet, ot
CHEA+ H
re=| =

05 Sometimes, (B) AT, if a person is already sensitive and upset /about something, |/

S

[delaying feedback] can can be wise.
[SBAT F0{]
delay : X|¥A|Z[CH O FCt
wujE, SHX|2 T2 OoffH ARZfO| OffH of sl o|O| of 2t Faks RUCHH

critical : H|EHH QI

[y e

CUHABE  BASHONKZ 0+ T+ 5

06 Use [your critical thinking skills] / to analyze [When feedback will do the most good].

REZE) [0] LA g4 25 (-517| QeiAlY) > 90| when2| A|Zte| SAME F &AL whenO] OFL| 2}
analyze : —E—*—‘! SHCt O| 2 At when 0|7| Ti 20, 02§ § LtEFE = TS Ab will S AFESHOF &

ol X 7Hy o|2E ARIXE 437 f8 o222l HITY At 7|s& 8%t

just-in-time : X 7| 9]

07 Rather than [automatically offering immediate correction], | use [the just-in-time approach] and pro

rather than ~ : ‘~2}7| ECHz’ SEA R(EEE) [0]

K‘l_/.\_)\l.+ ps|
feedback |/ just before the person mlght make another mistake.
L the other : X

71171|x—.12+§ SZHQl +¥g HM3ot7|Ehhs, H7|e E2H(ERY W DEYS HMIdts EE)S AMBSte 1 AIRZO| E CHE dE 317| HiZ2 Hof| mj=wg

mNZst2
at the earliest opportunity 7+=5% | sensitive of eIt - -
e T et e X 2% F27I0 7|1&8 7I=X0 DENS F O D=

o Ve Ho| 7+ E%OI 2 & A AIFS BESHY AI7|HZEet o

commentary My analyze 23t CHiS =L 70| B_J_P“'Ollif
leave out ~2 WiC}, -2 M QfstCt do good O|FCt, 0|9 FCt = Te - '
immediate Z=7kM0| correction BN S| @ For example however @) For example as a result
sequence ESPs! just-in-time X7|9| EAl9| @ In addition in fact @ Similarly moreover

® Similarly therefore
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ok
o
Hl
rhx
-
4%
=2
A
rot
oA
I
#a
[}
pord
10
Y
oA

= quota : 2 sampling : ji._—rg where : @5 2| A LAL: (0] 28 M) ~5t= PRl F make-up : 7
A [ _Quota_..samplmg ls a technique (whereby the..._resear_chex M a_sample (that reﬂects the make-up,
3 ~a- 8- -
in numerical terms, of the wider population)).
numerical : S=Xt2]
o2 HE FE2 AT o HEM 2ot ZH2 DY 1dEs thYsts BmE2e MHESs 7[Yo|Ck
~HEA want +to R gender : ‘(%) undergraduate :CHEHY
02 B0, ETEEN0E, if a researcher wanted to study [gender differences fin first-year undergraduate psychology
s v [o
comprise : T+ SICE split : 22|
students], and [the wider population] omgrlsed [a 60/40 per cent split femalesmales], | then the sample
[s] [0] S
must be comprised of [this same ratio of females to males].
V(EESEIF2)) ratio of A to B: AL BC| H| &’
M oE SO oF ALRI0| AE[ste MSots TSk 1SHAM S0 A ‘I g oIt XjO|E ¢t Staxt st Hrf ZE2 RHT0| 6o/40HIERZ FE|E X}/
HAlE PO AL, OqH B2 oA Of HAPF o|eF 5 of HIE * | OfOF BiLt.
03 (A)BIS, in a sample population of, say, 100 participants, |/ the sample would contain [60 females and
7+ \Y [0]
40 males].
et O HIH HI7HAI7E 10082 B RYHOM E20= OAF 6odt HXF 40H0| ZBHE AO|LH
~the other / another : X ethnic : 21Z2)
04 This quota system can [0 be used | for other factors, such as age, ethnic background, etc.
V(+=SE) L.xup* ot e
O] 2= HE, QEA Hig sS4 22 CHE KQlolz A8 2 == ATk
‘EAl' dO’ol En_ A
= CUHLE A} LR 8 1. YRS AL ~otop
0 o o | HxO. o
a) 05 Like all techniques, | quota sampling does have its drawbacks. ~? Z5507 752 © o SR8
T o TR R S v drawback : 2% ) <Z€+§A+§|E§I+ T erEe
5 YEHEALS YOM ZZ 1 do/ does/ did + SAHAE
B 718N g€F 52 F=E0|x AFo| Uk
time-consuming : A|Z+0| 30| Z2|= need to R : *~S}{OF SHC}
06 (B)IE@XENTUAE, it can be time-consuming | and the researcher would still need to consider
Y S v
r B =
[exactly how the subgroups (that make up the sample) are selected]
[O] (&) i
LIHOISE  HAEHOYTE o+ F + 5
CBAPE(SHO[E) :how + 2HY
OlE S0, D42 B2 AlZH0| 28 =+ U4, AAY2 HES d5t= ot TTHo| Fes5| ofEA MEL|=X|E O35 HESHOF & Z0|Ct,
what if + & : ‘~7} ~5tH oG}’
P oL F4 refuse + to R representativeness : CHEH A
07 e.g., what if those (Who are selected) refuse to participate — how might this affect [the representativeness
S maa - \%
of the sample]?
OlE S0 MEiE AIZISO0| HIISIZ|E HRsHH o{EA & 0|0, O|H0| =2 HHY0l= OfEAH &2 0jE A7k
* quota : ()
1 BE == 1 H|2 . _ —
e S e U8 xeeowy B2 $32 90| 49 BHON w2
whereby - CIAGLSIRI0D o contain RN de ngtio) Mg HtlE BES HESE J/Hoin, A
makewp T8 ethnic 2el Bse 710| 80| Zajof s 9IR ol Medoy Che) mafsior she Y
numerical 20| Z=XHAO| drawback 43, 4H 0| 9lct.
terms oE B UE T time-consuming (H2) Alzto] 2=
; < O Thus Nevertheless
population S subgroup SheldE @ Thus For example
undergraduate S CHEH makeup ~2 pAsiCt @ In addition Nevertheless
: ; : - In contrast F |
comprise TASICEH representativeness WE=P % IE Eggt:zzt C?); si);in;r?tli/
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pilgrimage : & X| =2 X| establish : £t115| SHCH
Most of the + HA}/ Most of 2924 + HAL/ Most of 22

01 [Most of the world’s great pilgrimage and tourist sites| were established | through the written media,
[s:5=] V(T SE) BT
UFOUSA 2K o9l ol 4% Az ¢ 20} 517
well before the coming of film, | and this hmlts the effect (that film had on [actually establishing [the
coming : 4, FA| S A < L HX[AL+ SBEA
L=9F o | e have an effect on~: ~01| g ojx|cp
iconic status of such sites]]).
iconic : AFEIE 0l
status : X9
CHEEO| MAQ| FEHDH GX| x|t MAX|= Fotvt £ty g To| 2A2 & OME S FusiFa, 0|2 Qs 1 Fao 4FH XE UMz =
15| Sh= O Hapot O Hek2 HMehH ol
this is the case = this is true YN
02 (A)IRGANEYER, this is not the case | in countries (such as Australia and New Zealand), || where
BRI ek EE L BAR AL A& HEY
the majority of ~: ‘CHCF=Cf ~ b where+S+V ~: 0] ZOIA ~
[the majority of our tourist sites (including the ancient indigenous sites)| are, in one way or another,
[S: 8] Vo in =~ way~HAOR" / one ~ another: ‘0| X2 ~
L F0|/SAL =LK o2 ;of2f MY HX T ’<7’|-Mo| """""""""""
[products of the 20th century]. e ER
product : £H=
SER|EE @ AEYAB|OQL RAME ZH2 LIZto|Af= AMEO| OfHlD, O3 UatoMe (M258H O 0| 1)st 45 Z6t) iR X7t 0{EAE 20
MIZ|e| £h= 0|t
_Z’_
2l 03 NANCTETAGGS, they have developed | in the age of film.
oy S v
b= our tourist sites age : AlCH
CHAl 23iM O 2HERIS2 Fzte] AlCHof ZHEE|RACE
04 (B) IEi@3ENE, [the Sydney Harbour Bridge and Opera House, the Outback and High Country (as generic
[S]
reach + N : ~0ff Z&ts}Cp
Australian bush heritage sites as well as relating to specific legends) and even Uluru] have reached iconic status
\%
| through [the influence of film, still photographs, documentaries and even science fiction movies].
influence : Z2f
Ol S0, AIEL| St _E2|X|Qt A|EL| |2} 5f2 (5o A A7) l2 0 OfL2} ZaAXMoZ QAEZ AZ|0LS| O|7§7FX|Q| JAX|ZA2]) Outback
(SRt High Country(1X| A|CH), 2|1 UlwruZAt F3h A€ AR 7|2%s, AXojs 24 et Feto| gere S AFAF 0l |90 0|24 = ict.
05 |New Zealand’s Maori culture and dramatic scenery (thermal in the North, glacial in the South)]
[S]
are ach1ev1ng [similar status] | through film.
[O]
TEHES O0reE| =3 (RR 2N 24, Rl Wit S4u Z2) AYH 42 HE Sl 5=t XS fn ALK
* pilgrimage ‘K| =2 ** indigenous 1 1E0| DRt
iconic MEXOI 249 legend MM a oy
SERE, 7 8 - T2 2% Bt Sl MAl €7 X0 XLl X[9{0] Of
status X ¢ still photograph AENRI =2 E9ICt
. = AN .
ancient 0| 25 E{9|, 1L} documentary 7| 2%3}
. X @® However Nevertheless
EXsS x e:}
specific S3e thermal 28929 @ However For example
generic ZENO| SXEX] glacial sl AS MY & ® Instead For example
0|7i7Hx| 9% ; WA= @ Furthermore Nevertheless
bus‘h A, | in-one way or another - 0 ® Furthermore In other words
heritage ot
F0|SAL, =X o2l
=
some
s any
' half ;
all + of + WAL+ SA}
; most - of F0l & BAH = LK
. the rest

thefa] majorlty

) %
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127 Exercise 03 AN FE p.079 WAL SHASO A FoE F= WA
distance : 72| barrier : &
= 4 between A and B (=)
2 01 [The amount of distance (between the teacher and his/her students)] and [pe_r_‘_e_e_l_yed or actual barrlers]
A [Si] [S:] pp
have an impact[effect/influence] on~ : ‘~0fl @¥+2 O|X|C}
can have a significant impact / on communication.
\Y
significant : A=t communication : S|AFAE
WARRE 7 Jt2X|= e 7kol AZ|et QIX|E Ee HAQ| HHE2 oAMASo St e 0/F = AUCh
ensconce : “H3| SFS|Ch barricade : 0=
r 2l F
02 |Teachers (whO tay securely ensconced | behind the ‘barricade’ of their desk)]| automatically create
[S] R - stay + oiQAf(EO{) THEAHEO) V
rE F
[a boundary (that blocks [effective interpersonal contact] and gives a territorial feel | to the room).
[O] i \
boundary : A block grC, gislsict interpersonal : CH 17| territorial : & 9|
MAO|ZH Fof=E Fof ATSHA A2 O Ae WA= ASHz 2880l Tl 7o| YHS Wolistn nMoM £ Yo tigt =4S & = Us BAHE
=Lk
proximity : &t behaviour : 24&  management : 22|
03 [The use of proximity], (A)AEIEHIEMIEN0], can be [a powerful behaviour management tool].
[S] \Y [C]
J0j vl 2EHS Ol8SHs A2 FYS WS IW =77 Y 4 Utk
firm : 2208+ reminder : 9| privately : ZHRIE 2 2 discreetly : 2&E3| embarrassment : =2tet
04 [Firm reminders and warnings| are best conducted | privately and discreetly (it reduces embarrassment or
[S] o V(S BER) s Vi
threat to the student and minimises the spectator effect, both of which can fuel a challenge or
Vs b A CHYALS| A S H 8 = &AL+ CHEAF
b=and both of them can fuel ~~
counter-attack).
Ctodh FO|QF A= JfoIMoz ASSHA O|F01E W7t 7HY &L (AA2 YA Ao 212{20|Lt !j@ES E0|0 TdE SNE %29 ot=h, 0| & 2
= NEo|L BrAS ExfjEe &= &’A'ED
tower : =5 A ACH
CAPEA B YT HIEA
05 [Getting down fto the student’s eye level (and not towering over him/her in a threatening way]) models
[SBAT F0{] Vi
consideration | and invites the student to respond | in an equally respectful way.
Vi5 Sxof Sxsof
consideration : Hi 24 Linvite + 0] + SXEO0{(to R) : ‘~0i| Al ~5t= & XL} StCHO[LCH respectful : St
SOl F=0|2 s A(dZ|D fIYXCE St 2o|M WCHEX] @is )2 Hi2{o| RS Ho|1 SHESE otojg OHEIX|Z &0t Aoz Higse s
o|&Ck
P HEAL+ " 0HF 7} -BHX| QECHE ssuch - as toR: ‘-8 4 Q= 23 -
o6 (B) IENEYES, unless the classroom is organised | in such a way as to allow the teacher to access
V(= SEl) V5 =H0f SHEY
Lallow + S8 + EHEO (0 R): -7t~} =& 5| 83|}
individual students, | this will be problematic /| and the teacher may resort to [maklng public scolding].
S v S HAAD + BYALR
resort to+ N : ~0f o X|8C}
Jejut mAHO| wARZE 7H7H°| SHioA g = Ue 2 WAooz HiER|0of UX| §UCHH O|HE2 EXIt AS AO|H WAits B2 ARIE 20M HMS =
0] ofX[sHof %* |= 2ECH
*ensconce S| SFS|CH ** proximity =&
i OIR| &l a0 EAIES " = .
perceve T fuc T30iC), S X2 9 mAfet S Zho| F2let O[S 9| QlAAEO| Byt
actual MR 2|, AMHY challenge Mgt £ HstS bkl - of
barrier Rk counter-attack Iz Jd= 01F = At
securely erds| tower over ~?{0f 25 MCt (D on the other hand However
barricade goj= model ZEEg)E A=t @ on the other hand Similarly
boundary 4 consideration B 24 @ for example However
interpersonal 7Hel 79 equally OHERZER| 2, E240] @ for example In addition
territorial EX HYo| HEQ| respectful e ® therefore In addition
firm Ctzsh =t ist access HIstct
reminder 9| resort to ~Oi| o|X|&tct ~off Z|CHCt
privately oMoz 2| public HE AREO| e

spectator
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Fo 2N

primary : =28} means : =t

CEEA+E PEXIAL+ ZACHEAL + RS
01 Before language develop || [emotions and touch] are the primary means (b X which [parent and child]
[S] ™24~ bparent and child communicate by the means

communicate).

A8 YHS A7t LEHBP| MO FELt Of0[7} AL SO F8 Ho|Th

preverbal : 2 g = Q7| HO|

TP TA (HAE ) - if+ S+ THSAL -, S+ ZEATHYE + SALLE -
02 (A) [N, it would not be surprising | if preverbal infants had [some basic understanding of
b Abgtol st b7r7<-i'='A|- LeMa SICHS }Mol
ER{YoT|H HIYRA e O E indeed : ', A
other people’s emotional, nonverbal communications], /| which research has indicated is indeed the case
L.1+71|EHD1MO| ASH S = TEA+ A} be the case =be true
»=and this (¥ B2 LIE) is ~~~
b, whiche M&ALZt
1) ol EYHAL- 11 HAO] =YX
2 %0l Y8 - RxU B33
maty 2hs o = UI| MO Of7|7} CHE AMZS9| Z7EH, HIAO0IN QMAES Ol FE 7|2HCR Ofsisictn si= =22 Zi0] OfLH, 1240] FE AR
te A= 977t 20| FICk
PR CHAPH HEANS MO H) : that+ RHEHH
xB For example 1nfants (as young as 14 months) understand [that emotions are often “about” a particular
LESAT S| &M \A [O] s
emote : (ZE)=2{LHCt
event (e.g., someone is scared of a dog) / and are very adept at [identifying [what a person is emoting
L‘Kitl)k})+ HAL [|dent|fy|ng°| S50{]
adept at~:~0fl & LZIHOIRE  HWANRHO)AIE o+ F + B
about]]]. AP (SHOIE) what + ESHS H
L about0| HFEA| Qlo{OF B
ba person is emoting about something
olE 14/hE H= & 013| O7|= &0l 23] £ ARH0| “tigk A(ME S, =717t JHE FMASCHOIEl= AE Oldhotl oF AtEt0o] 20) s &d
= ':EiLH" QJEXE ABEIE o 0§ SZ3ICE
begin + to R/ ~ing CHAE HEAEHOE)  that + 2T E
)
04 [IMEGGITENY, by 18 months, | 1nfants begin to appreciate [that two people can have a different emotional
\% [0] s \
response [about the exact same object (e.g., you like peas, but I hate them)].
response : 2H exact : ‘Setot object : AtZ, CH&f
CESh 1870 20| 07|52 F AMRO| H&s| 5ot AFZ0]| Chsto] Aojst A™A HgE & 4= UCts ACIE Y, He 2532 ZOMSHXIL Lhe O4E &
OglChE QIASH7| AlZfoict.
high : °“1*b % | 8N =0 assume : 7P [AZhsICH
14-months-old : X highly : & SR K A HEA(S O\ ) that + 2ROHE
o5 (B) IMITESY, 14-month- old infants are still hlghly egocentrlc | and assume [that everyone has
v, egocentric : At7 [ & QI V, [O] s
[the same emotional responses /to a particular object or event]].
[o]
response to + N : ‘~0f| CHst 2+-S”
EMo 2, 1470 & O7[E2 o3| o A/|SHH0|N RE 0|7 5 AFZO|LE A0 sQet AEA vt3S HQICta M2IBir)
* adept 55
oro &+ A 0f P2 (TLEF
r)reverbal = qu—r A7| Mo emote ;D},:j(ﬂl- /A E2qLHct X2 Q0 ZIMT MES olof7} gekstz| Mol B @ol 0to|7}
infant Ofo7|l,j oif* pea . -—"‘i’MHOl OMASStE FR FHO|H, T2 E = U7 T2l of7|7t &
be scared of ~S R MQYstct egocentric IS eHe 2 NSO UMH, H|QIOE OAAES ofb ML J|EXHO
2 O[3lfdt= A2 FHsICt
D Consequently In contrast
@ Consequently Similarly
@ Nevertheless Similarly
@ Nevertheless For instance

® Furthermore In contrast
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context ; B2k Atzt
»=s50 as toR: ‘~8}7| YIS Af’
01 In the context of SNS, / media literacy has been argued to be especially important // “in order to make
. S V(=SEl) CEEE _ L vi5
> make + SHO| + SHEO(HEA - -A| HECP reinforce : 2SI

the users aware of their rights / when using SNS tools], and also help them acquire or reinforce human

Fo 2N

25 2x0] LHZAE UAE SEEATE w5 2o 2350,
aware of ~: ‘~& Ok, QIAMSH= LA LEMASA+ 20 + EHHO|(R/t0R)
rights values and develop the behaviour (necessary to respect [other people’s rights and freedoms])”.
gxu0), LB8MT EXI5

necessary to R : ‘~sh=0 Zash
tl=ol ©elS oNoH] Stes, Jdan Lot 50| Q@02 kXS @A oot Erelol #2|et
O|C|o] ‘HEi=20| £ FRSICHL FHE|OZHCE

>
9o
g
T
ofit
Of
N
dom
2ot
Ty
o4
Loy
=r.r:1|'|J|O
Fﬂz
Milofo
ok
ﬁfc
JHU—>.'—
HH1
uijn
402
elgn

R -=Efolo] B2/ XIRE EF| Aol B HES J2E
02 (@ With regard to [peer-to-peer risks (such as bullying)], /| this last element is of particular importance.
with regard to+ N : ‘~QF BB A’ L ®X|AY ~of 2 V  bof+ FAMHAL= &AL = particularly important

OfAL W|FS|7|2F 22 ARSAL ZF ap P50, o] OHX|Y 4= SE5| SR

relate to+N : ~ ZEHQACE R S5
03 @Thls relates to a basic principle (that children are taught / in the off line world / as well): ‘do not do /
Y Ran- +5670)

to others / [what you would not want others to do / to you].
L BACHH A : St A V5 SH0f  FXHO0
LEAEEMOE) what+ ELHE E bwant + SHO| + FHEO (1o R) : -7} ~317| E H3ICh

=

O|A2 OO|S0fA 2=l JAMME Zt2XE 7= #FQ ‘HS0| 202 5FA| YR 3= LS S0 SHA Zabet 2A17F L.

04

05 (@ This should also be a golden rule / with regard to SNS, // but for children and young people |
with regard to+ N : ‘~2F ZHHB| A"
P H g A2 &W)  much, still, far, a lot, even
it is much more difficult [tO estimate [the consequences and potential serious impact of their actions |
L 7130 [ZI30] [ estimate2| S0 |
consequence ; 21} potential : & XH& 2!

in this environment]].

0|42 SNSof BE|A= F=E0|0{0F 3HX|2, Ofo|Sut H20[|S50| 0] &ZoMel AHilSo| WFo| Zutet ALl S Ygs FFsts A2 ¥l ¢ ofF

Et.

FA|AFE SX| A e ‘
INGY Hence [ralslng awareness of children / from a very early age (about the particular characteristics of

[SBAT Tl B3]

seemingly : 222 £7|0f|
SNS and the potential long -term impact of a seemingly trivial act)] is crucial.

trivial : AF2ABH V2
F0l/ SAL LA :
0| O|RE, SNSo| S0t Edut ZH7|0|= AtAsh WSO HIYAHQl FI7|HQl ko Ciet O0[E2| o|AlS OfF 0f2l LIO|REH #=0[= Z0| I=HO|C},
media litera ojCjof e si=H estimate oot ekt s
- & H}:o'i AELPHE} ey ;jet * e X 2% SNS 2HE0i|A, AHEAIS(010]S)0] Efelel #a2|et X}
acquire -, =9 T1V1 el O=2 ==&} A Ol 7~ Ege 7t 7] =Ox
: ; £ &3¢ =+ U= 0o ZE 58S 4= A0l F1%t
relate to ~QF 2HA| 7} ALt bullying oFx} 7|23|7] 1|:-I|—-E o= poy e 4= A
golden rule 38, W59 7|2 2| accumulate EXsiCt '
seemingly ZEI|0jE, 974e2  potential =0l
reinforce PALIre I crucial =rjet A0l

o
principle ks
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rwhile(FEAN + & - ~7F -6t S0P
colonial era: AJRIX| AT ~for(HAIAY + 5= 7Hd] : -~&ob ‘many + 44 4= 9l AL B4
= pduring(HX| AL + (71 ZH B AL - ~S QP smuch+ 4 £ gl BiA} cr*:g
2 01 In the colonial era and during the early years of the Republic, | Americans did not drink much fresh milk.
= S Y,
AR AlTHRE S2t=2| Z=E7(0f, O|=2lS2 WRFE BO| OrAIX| RRUACE
extraction : E& consume : 2~H|S}C}

CEHSAb+ E H|E -7} 3|2k
02 Although [most of these early Americans] were northern European | by extraction, | they consumed dairy

[s: 5] % S
“RoEa 22 ol > FoUEA, $9R A2
products | primarily in their preserved state. Teyn
pp. 7 {"some
primarily : =2 Lany
H|Z 0] %7| 0|2QI9| Cic7t HEL SRYACIYUXL, IS RAES T2 BF NE{2 AHFCH | half :
| all + of + FAb+ SAL
ideal : O] &% QI tthStrest ;H o Flol = Sl 21
. . o the[a] majorlty
03 (D Milk was not an ideal beverage [for New York City’s hot summer days. JCES ,
S \Y/ X %
LFE 782 EH2 EE0= O|4Ee 27} OfLALCE
refrigeration : & typical : M&X QI sour : & SHA|SHCH

04 (@ Without refrigeration, |/ typical July city weather could sour a pitcher of milk | within hours.
LI A —gtof $ Y
pitcher : =Xt
Mexol S8o| A SHE £ AIZH Ol 3 FUAISl 285 AP T 4 ST

- while2 “’“OI AZtSHH BE ‘H|E ~0| X[ 2 0|2t 11 s A8t
CHEA+ - H B -7} -8R TP

O] Therefore § Whlle [most city residents] welcomed [a cold, fresh glass of milk or a dish of ice cream] |
[s] [o]

on a hot day, |/ such food experiences were rare, | and sometimes,deadly, luxuries.

S vV (Were)
rare: =2 deadly : X[ Z= 0l
M2t CHERQ| ZA| HFEXE0| AR o Xt MMSH 7 oF THO|Lt ofo|ATE oF FAIE BIZX|TH J2fst 84 22 EEAL, HEE XFHQ ALK
[
JALT.

06

(OI=S0] AZA 3= 20| 59 HY HAE A Aoj2ks LEFQl dziof 7[2l5t0] 42RE OAlE AS M=)

~attribute A to B : ‘AS BBt 2 E2|Ct o &ZE

YAO] For example [the 1850 death of President Zachary Taylor| is often attributed to a glass of milk

T~ S ES | VEEH)
(drunk /after a Fourth of July celebration), | after he had dedicated [the cornerstone of the Washington
LOARAT 2R s V(CH A F2) [0]
dedicate : &¥1SICH cornerstone : FEE
Monument].

monument : 7| EH|
ﬁl%ﬂ%oi, 1850H9| CHET Zachary Taylor®| AtY2 A7h =& 7|FY AL SILEE OFY 20, & A7t fdE 7|gHe] FXE2 St 70| OHE oF Thel 2
o
EtS

Z 29| o{AZICE

* extraction EE, 714

era AlCH i EGX|Y) AFRHFT >

R L, (AT X2 9% £47| D|2VUSOA OfF LMo Al 42es
airyproduct 7HE HsHE deadly [HHol OjAl= Qe =2 #o|QiCt

preserved 2EE be attributed to  ~0f 7|Ql&tCt

refrigeration 4, 43(ED) cornerstone FEE, =4

o
sour ASHA ST




137 Exercise 02 FESHEF  p.082 M3tel ofn|

Fo 2N

A|.x+ xiAAl-(Exicﬂ ) that + 2tXst A

01  Myths remind us [that [our existence, and its meaning,| are with, in, and through others]|.
S V4 ~OfH [-E] [s]
myth : A1S} remind : AF7|A|Z|C existence : EXY
Aat= LE|0|A fE2|2f “EXPet AAC| o|n|Zt THE ARMED e, A5 £0f, 22|12 A58 SoiA! Utk=s AS &7IAZICH
isolation : 11 &
02 [Our process of becomlng] cannot take place | in isolation.
[S] b ®X|[AR + S HAF
take place : LS OJLtCH
2219 MY WY (EMZ LHEE 272 DEE HEoM= LojE 5 Gk
strive to R : ‘~o2{ 11 - 2siCP
03 (D Children receive an identity | from their parents, | yet strive to establish their own individuality.
S V1 VZ
identity : XA individuality : 7
Of0|E2 RZ2RE FHES LR, Xp7| XHilel 7i8E =HEdta{n Of2Ct.
speak to~: ‘~2 YB5IC N both A and B
4 @ Myths speak to [he ower of love (to transform both the lover and the beloved)];
v [o Do EHNe HE Ay 8y Uthe + g AL 8 At
bthe beloved : ‘AFEEHE AFRIE
this love gives meaning | to life.
g Y
Aots ARGt AFRDE A= AR E OFE 209| BHY == AIEC 28 YBSh=0, 0| AIEO| &40 2J0|S FOojtLy,
ally : =(Xh
05 ® The hero cannot become a hero alone, | and heroic myths include mentors, friends, lovers, allies, and,
s Y S v
P2 77
above all, enemies (wWho define the hero).
K'}FA‘I/
define : H2|SHCH
I8 BXM 30| E £ gli, IS Melo= A5, X, ¢l XL d2|1, RoRECE, O I8 Foldk= Xo| ZtEnt
06
(B LIo] S0{7h= oiddnt 22| RHilel Zh2 21do Cfet Xizte 2 2lg) f2l= &3] 22|2f EX2| 2[njof tis) 222 HX|A &)
each + Th AL = B3
each of + S THAL = Ch3 F ~for BAF toR : to 2 AS| ofoj&e| Fof(~0]/7})
07 ® [Each of these relationships]| 1s necessary (for the hero | to take up his quest).
[S: G4 (@) o DA 8 H8A A4 (~BtT, <517 of)
quest: 7Y, B
Ol2fet Ztzto| #AE2 O B&0| Ae| RIFE AL Livt= o 2RO}
1 Al o =35
remind S7I speak to Col e assit X2 8% Hsts Q2dA e2lol EXf7t CH2 Agatel 2
existence = transform Aol =Lt 2 ES|Mot o|O|7} YA ECh= 742 A7|A|ZICH
take place lojLtct ally SHax}
in isolation DYE YEE brevity e
identity gHg take up ~S A&l LiotCt
establish =Esict quest 2y, g
individuality 7




13Zt Exercise 03 S&stEX . 083 Z2t0| Cfet CHFot ol

= rone of + (X 4E) + S+HA
2 01 Culture is one of the most complex words | in the English language.
T S v
complex : S&BH
‘BeFE oM THE =&T tHo] T SHLO|CE
term : &SI} £20t
CEAME HE *A}(Ex*oi ) that + XS H
02 Often | people think [that culture means the arts], | sometimes termed high culture: opera, ballet, theater,
S \% [O] b =which are sometimes termed ~~
sculpture].
29| MEE2 28t 2z, g, ¥5, ZANY M2 ‘AgFepetd YojX|= &S ofnlottta W2fsict
2‘5_7} Atol highly educated person: 1SS B2 Atgf
................ I PRI F -r-|1 aware of ~:* ’
03 (DA “cultured” person, by thls definition , 1s a highly educated person (who is closely aware of these arts)
definition : 2| =i
p ) 53, MEH 77, el BAAEO Lt
(who goes out | to enjoy them | often), (who reads poetry, and perhaps buys paintings). 4ty seaed
e DEAEBE: B (37| S e~ va 1 Ug
OIE1 Folof ofstH, < A= AFROIZE O|H ol&2 BUS 20, oS XF E7|28 L7t AE 84, 2|1 ofote JZE Ats, 1susS g2 JY M
O[Eh
anthropologist : 155X}
»the other : X - g AR EW) - much, still, far, alot, even
04 (@ For anthropologists and others, /| the concept of culture is much broader.
S v
QIFSIRIeL CHE AIRFSOIA A0IM E3tet= 7HE2 N O F-ISICH
rJ‘-MIEHmA} izt from A to B : AWM BE[THX]]
05 @ Culture 1s everything"(we do | in our lives), from [brushing our teeth with toothpaste] to [putting up
- [A:SYAT] B:3YAT]
a building], /| and from [watching the Olympics | on TV] to [taking part in a marriage ceremony].
(SHALT] - AOJ| A X [B:SBA]
from A to B : AU BE[7HX]] take part in~: *~Ofl rOISICE marriage ceremony : 2= A
S3ie Xfo 0[S Sfe ZOIMSE A4S A 20| 027K, 12|n TVE YT S ANSHs HolMRE ZAo| &Asts 20| o277 Sal7t
Met Z0j|M St ZE AO0| S EICE
06
(BHX] B AZ22M fEl= 22| Aol 23t QHof A= CHE ARHERE OfL|2f THE 23t= O[s3t7|E 7|t 4= ULh)
encompass : Z2FSHC}, OFL 20t
think of A as B: ‘AS BEtT MzZtsich .
7 ® Others may think of culture as [encompassing characteristic qualities of a nation or people (as in American
[A] [B:SHAM] PR
culture, Canadian culture, or Irish culture) or of an ethnic group (such as Native American culture,
ethnic : Z1&2
French-Canadian culture, or Gypsy culture)].
CHE ARISS 2315 (0|= 23} Lt 2%} L Ofaic —E—ﬂﬂl*ﬁﬂ%ﬂ? ot =7t =RIo| SEFAQ £ =2 (o7t HFE =3, YA JjLcel 2
s, wE FA] SobNg) o % Fcte] STl 542 deple oz YABKE wEC
* encompass Y 2HZE &SI
I L t -2 AoiAlIeC , = -
complex o o x|E 29 ‘o Folo|A TP BB T 3 siLiojn], A
term gt £2Ct Ceremony. . AL 94 2LS0| A4ZISH= B23to| Aol CRksiC)
sculpture =2t characteristic E3H2 ER9
cultured WA=, =3I quality =4, &4
definition Sfel Irish OtYHE Q|
highly educated s usgHe ethnic BIE9|, 21F9
anthropologist QI FSHR} Gypsy TAIL HAl



13Z Exercise 04 SFEoEE  p.083

0|22 Qe TYEE= HE

movement : 0| &, &

S \%

Fo 2N

incur : (EX| &

B2E Ol32 o IR HES &

cost : H|E, 3|4

01 All movement incurs a cost of some sort, |/

o

=

FAH
2o

B48) x2hict
AZIEH, A%E ool AlztolLt

p, which(FZA) + At ~:

‘o2t -

p =and this (=the cost) is ~

- BAHBAS AL . )
which is usually measured | in terms of time or money.

V($-SEH) in terms of ~: *~| ZHOf|Af’

=2 oA EHE

M8 - BAA + A

beiCt

[

monetary : =75 0l
: both A and B

2 O [Some kinds of travel], such as that (made /by auto, bus, or train), incur [both time and monetary costs];

[S: 'r]
»the other: X

D =travel b IPAHRAME B[54

v [0]

[other trips], such as those (made jon foot) , involve [an expense primarily of time].

b = trips

LIAEAT $R4Y v

expense : H|E, 3’4

B2 52 A2 St O|SME O SR O|F2 A7l 28H HE F 7K 2FE ZYA7|1, =22 3t O|SME OE 0|82 F=2 AlZts 20|

‘O ~Z -5l OFSt=A|"
» O| 28 & Ab(which) + BAL +to £

03 @ In deciding [which mode(s) to use | on a given trip (e.g., car or bus)], | travelers often trade off [time
s

Bin <ing : “~&toj] °|01A-| &

‘IAI-

CHEA+E 2t =37 2o
versus money costs], /| as [the more costly travel

trade off : #& 2 FAISICH

\%

modes]| are usually [the faster ones].

b = travel modes : &4

costly : H|-E0| B IEE
o7l 0]50f oftd HAMO|E 50| XXt S BA)S ALBHX|E AW M, HIEO| O BO| == 0| HA0] Ci7f O WHE Z{0|7] TE0| O|Sst= At &
S| AlZh Of =0|2f= H|g2e| #¥E FXIBH)
trade-off : @& (FXI) ‘AZ BO| H|Z0] K ESICHH| mSICH?
be involved in~: *~O0f E@EIE} o ZQUCy LAA weigh A against B: A

04 @ A trade-off is [EI5#] involved in the decision (to make a trip): the traveler weighs [the expected benefits

T~

destination =& X|

decision to R : *~S}iICH= 27’

\Y [A] p.p.
AN

(to be gained) | at the destlnatlon] /| against [the expected costs of getting there].

Do HEAIO| A X 2

Lo £ 25 79| - benefis® 201 = (4
FHHE|0f, O|F5Hs AfE2 SHX[0N e

w2 0|F517|2 Z285h= e

LAY

[B]

[

OdElE 0lAS AY|0 =A3S= O E= OYE= HIEO| HIZ0f N =L

05

o, 3240] o™ B ROA ot ZAOfA Q] WEE X[Wots MEFD OBt HFO0| EAI2] AFOA HO|A

represent - LIEHLHCH

each of + S=FAL = T3 g
each+ Tt HAL = ThFF

triumph : SE|

P H&AF+ A B E -7} -8R Tb

6 ® Each trlp epresent a triumph of [such ant1c1pated benefits Jover costs], | although for the many trips

rE F

p-p.

(that are made | out of habit) | [this complicated weighing of costs and benefits] does not occur | before
[s:&]

K_)FA_I/
each and every trip.
each and every: 0= ~ O|L}

b= St B0 ots S8 @
st S ofdiss ojolel a2

nurio

0|59 #? o=
LIEFERCE

[

complicated : S2Fst

\

0|0

mn

0|33t7| o o|2 =% ot HIEut 0|42 WY HiE LO| WIIXK|= BRI, 229l 0|5

F0|/ SAL K|

rlo

HI &0

o o, =

*incur (HIE3) ZYAIZ|CHEA E[CH

sort 5 trade-off (¥Re)) 2

in terms of ~O 2™ A weigh UM EC} MEEstct
monetary ) destination =57

involve SHFSICE ESSICH  transportation TS 5 25
expense HIE, X|& sustain K| Stot, K|t
primarily T2 represent LIEFLHCY, EASICH
mode Al S triumph =

trade off ~Oo| #¥E RAISIEE  complicated =&t &7] 02
versus ~Ch each and every O{ ~ oLt

A2 2% DE O[S0l Tl AlZtolut Eof BEHM ofm
SRO| H]Z0| WS E|D, Ol wAQ| 0|5 $EHS A
YRS AT O A2 O SORHE HI8Y RES [ASH
2o, 0|Se7| 9Iet ZHolT FHO| SUHEICt



137 Exercise 05 S 2%  p. 084 MEfA ol W37t OX|= FF

24N

ecosystem : 4 E{7 dynamic : &5% 0l
CHGA+ SHSH -7 Bk HoA”
01 Ecosystems are dynamic || i at their various parts are always changing.
S vV A == ;

HEiA= 39| crefet £20] Y #otn bts HoM 4SHO|th

o = 1o

02 Plants grow, rain falls, animals eat, and soils develop. [All of these actions and processes] affect ecosystems.
Sl V1 Sz Vz 53 V3 54 V4 [S]

AME2 A2, HE Y2l 382 93, J2|d EY2 Helth, 0] & a1 1g2 HEiAo Se= =L

>

because of : XA+ HALFHO{Z interact with ~ : ‘~QF A SZ3SICE  component : T+ R4
because : &AL+ (S+V ~~) - the other : X
03 Because [each component of an ecosystem | 1nteracts with [other components of that system], |/ [action or
[s:Et] [S Tk ]
»the other : X

change fin one element] often leads to [action or change /in others], /| which transforms the ecosystem.

Vv L BACHEAL] AL H Y = &AL+ THBAL
element : 24 lead to+ N : ‘~Z O|O{X|C} b=and this (% 2| L&) transforms ~~~
o MEfA O 2tZto| 1 RaE 11 MEfA Q| CHE 74 QA4S &= HE357| IZ0| 3 2A0M2| &#50|Lt Mates =235| CHE Q459| &s0[Lt HztE 0[0f
Ao, 242 1 HEfAE HEAZICE

from A to B: ‘A0|A| BE’

04 @ IETAEEINE, [a change /in the ecosystem’s weather (from sunshine to rain)] can beneﬂt [the soil,
[S] A HAAI BK| 4] o [0]

plants, and animals].

OlE SO dEiAel 27[7F shYSICht HlZ B EY, 4F, J2|2 S=0A 0|22 £ Uk

carry away : ‘~= 7t 7} H{2|Ch nutrient : G L& hinder : BfSiSICE growth : 4%t

05 @ [Very heavy rains], JiTEYES, could carry away [soil and plant nutrients], |/ hindering [the growth of

[O] LSS EALE, =and hinders ~~
/AN e
vegetation], | thereby leavlng [a reduced food supply [for the animals (that de end on that vegetation)].
LssElae, S (hdl depend on
vegetation : A&, &= Lb=and leaves L o depend on~: ¢ sicp

rr i

= ~0f o=
SHR|2F ofF 24| YYE 2 207t =79 ¥ Yalstd ANz 3 1 =50 o|Edts =00 Hie HE Ao 382 9 HEoL

moisture : == preferentially : M2

06 @ [The supply of large amounts of moisture | to the remaining soil] might preferentially benefit [a few
[S] Vv [0]

types of plants].

07
(Yo z QIS MEAS 7o S¢tetel BAl= at=HO0[ojA H HE[of AN MMS| MZ wXtsHA ElCh)
thrive : HESICH S48 X|Ct shade : 15 restrict : M| SHSICH
HAA R 7t -Rolntah A L ECE
08 (® As those plants grow and thrive, | [the increased shade (that they create)] could restrlct [the growth of
S Vi v, [S] p.p. e [O]
e
other types of plants (that would otherwise be competing | for [the remaining soil nutrients])].
- ‘13K o
compete for ~: {(~= 7| @leH) BEStCy
dd MES0| X2 2HsiEo w2l AAES0| 250 W= 50| S715t0 OHX| oM Hot e B JYES fldh CHFED AS tE |9 A=0| 4
Fot= A= MAE 5 U
* adjacent Q1T Bt
ecosystem AERA vegetation EEAEF] 2 gok Al L& oA of SHEOILF HBIIE CIHE QA
in that ORI EM  thereby  13AEozK, axmEol M 2% SERAE e oMol 280/ Hept fE a4
soil EY EX preferentially ~SMEC=E =9 g30|Lt H3lZ O|0jK 1 MEHAE HAA|ZICE
component T84 typically YHtHo=z
element i=EN spatial Ste], ¢
lead to ~9 £ O|0fX|Ct boundary dA|(H)
transform Hﬁ*l?' ICH HHRECH  transitional Me7|9f, HMSt=
carry away ~2 g£07ICt thrive 245tk
nutrient %%% shade d=
hinder si{stet restrict SHAIR| M H S




13Z Exercise 06 F&etEF . 084

rE
rk
Ho
=
=O=I-
muy
a2
[o)
Hu
R
El
Ho
10
rot
]

convincing: 58 Q=
_z’_ NN HAE M2 A} =Rl ks ) that + 2t XSt A
2l 01 There are convincing reasons (to believe [that education can increase wages | for some]), /| but
b reason toR: ‘~2 0|}’ [o]
- H[ R F A0 7 (E4°) : much, still, far, alot, even 441 P BAFE HEAEHOIE) : that + 2T H
there are even more convincing reasons (to believe [that education by itself will not end poverty]).
reason toR: ‘~& 0|
by itself : ‘1 Xt 2 poverty : HI&
WS0| Y& AIREO| AFE QAMAZ £ ATt Lg Orol =53 QU= O|{7F UAX|TH wg 1O XML 2= HiRg UK XY Zo2tn g ool adl o A
S2 915 o9t e,
persistent : X2 QI extreme : =542
» = education
02 (D Education can do a lot of things, | but it cannot resolve [the persistent economic problem of extreme
S v s Y [0]
YN
poverty (felt by tens of millions of Americans)].
L3 EAT 3R
use B2 U2 s 4 AKX OA0| M| 0|FQIS0] L1 Q= FHIo|2k= XEXQ HH 2HE 12 = oict
long-standing : 22 = myth : &2 cure : X|7-SHCH
P RSMEH): YA+ that + TS H R SE-Y S|
03 [The long-standing, persistent myth &that education alone can cure poverty)] 1s dangerous | because
S: i CL
- oI; ol E E-_rl_a] p oy F
it has caused schools to become overly focused /on [economic outcomes (that will not be achieved |
s v5 =H0f SHEO e b = SEf 32| : economic outcomes ¥ El= T
b cause + 2H0] + XM E0{(to R) : *~7} ~SI & OF7|3}C} outcome : 21}
without [fundamental social and economic reforms])].
CEKIA + BAF: ~gtol”
fundamental : A0 reform : 71{&
usftoR Jihs XRe 4= Q= @ Mo AN AXHQl 22 gle BE2 10| stuz stoig 22Xl ALY ZHA JHE oiol= dF6HK X2 4H|
A G0l XLEKA HSot=S otRi7| W=0f IstTt
04
(&M o= 7rF80 Sgte I Ae 71 IgE As 24 fle BE T ot SdS0| £271| 7HKE ZRAHLoZ HoHA| GOtoF ot Z0|Th)
democratic : BIZ5F2| 2|
05 @ P61 [the focus jon the economic outcomes of education] has pushed [the democratic, social-emotional,
[S: T Vv [A]
push A to the side: ‘AS O = MM FCp
and intellectual aims of education] | to the side.
intellectual : X[ Q1 aim : SH
08n @8l AXE Autol [t WES B FFON, A MAMH, 12|11 XMl 2RSS MA SUCH
principal : =823t
= P EEA+E continue +to R/~ing view A as B :‘AE BE H}2}ELC} o &ZEf LA
4 (6] Sadly ! if schools continue to be viewed | as [the principal path (to end poverty)], |/ then
T v b B £E8 F0| Lo B&Afo| oi.Q.Al-X-I g4
unlikely toR : ‘~& 7}"“0| Ae
[genuinely beneficial educational, social, and economic reforms| are unlikely to materialize /| and
[S]
genuinely : 2’42 2 beneficial : 0| 22 materialize : T-X|=Hz|CF
poverty /in America will continue.
s v
STAE Bl St MRS Bl Fe3 d22 A% OFECE, Ao o2e DS, ABlY, 1211 AHH AHS THL| TS Ho|n 0|RoAe)
B2e ALE Aolch
convincin, M5 e, 248 myth a7 gl g Ag} TS
e ¢ 55 S e S Xg oo mgOloR YT BHE 82 4 cts S@oz
poverty HIZ, Tt reform & oI5} WK0| CHE SHSS STHAISH] &2 Ol TFst i
resolve 8§ ZoICh CHESHEE  genuinely UHORE, =45t = O|EA st At BIE Zrle X|&E Aolct
long-standing Qe Mo 2 materialize T2 CHA R E[CH
persistent 427 ASHel




13Z Exercise 07 S8t 2  p.085 ZHQ1 WA}

11
Olm
rot
ojo
12
El
Ho

pwhat: X finger: &712t2 2 GiFESICt count : B¥XHS Q=L
¢ O 2 Ab(how) + to R : ‘O{ B A| ~sfj OFSH= | CHEA+E
01 Books may tell you [how to finger the notes and count], /| but they can’t catch you | when you make
S V4 ~0IA [~E] S Vv, s v
a mistake,, coach you to get a good tone, or,teach you to play musically.
(can'h)V;5  SHo| =xuEof (a5 BHo|  SEHHof
bcoach + EH0] + EHE (0 R) : ‘~7t ~3l= & X| EBICp '-'teach+5’“°1+57“201(to R):‘~7} ~St= & 7tEX|Cp
ME oo &of2tos 35 AFsie WEN HIXE HEs HYE T £ 5+ UKD, AUS2S H5dts O2EE A0, o 20 2 SME Uk
SRS SAHOE AFAER J=k = giCt,
- A HEAEHOH) : if / whether + 21 8 : ~QIX| OfLIX]’
02 @They can’t check [your posture and hand position], or, tell [if you play out of tune].
\Y [O] (can t  [O]
L' books out of tune : Z7F20f| BFX| @A
OAS2 o2 =o| XMt £2| 9K =0l g = gl 0J2{20] 7420 O|RLIA HFFStD U=XE & 5= Qich
= act as~: ‘~H&g sjch e F
2 03 @ A book may help you with some basics, |/ 'but [a private teacher] acts as |a personal trainer (whO can
fi S vV [S] o) -
- SAE S8 BN (57| SUeHAD)
collaborate with you | to solve your problems and,work | with your own learning style)].
to Ry (to) Ry
collaborate with : “~2F T 2s}Cy
M2 0g|20| & X J|2RE|S2 Hife O =82 & 5 UKL, JHel WA 0220 ZHME SiZotn o2& Al o YACR SRS o2zit ¢
=8 & g o saolHEA g Bt
04
Stul BHELE QFAAEZIOM AUFShe A2 TFSS T, HSAHYS HEoH, ME22 2242 e, &l stuE X[@siH, J2(1 iz S0|22 ofd
= St 258 BYoIcth)
stage fright : FLHSZES  hold : ZHEISIC recital : HT3
05 @ A book never tells you to go home and practice more, helps you with stage fright, or holds a recital.
S V5 EX‘IO-i EI‘IEO-' E EI‘lEO-lZ V, V3
Ltell + M0 + EHEO(toR) : ‘~0| A ~sl2f 2 LSICH
Me A3 ofqZ20|A Foil 7tM O Bo| A&stat el FAL, 0| B0 SEFE S55k= O £ FAL, 52 AFIE W2[6HA| @=Ch
imitate : 2 2+SICH
CHEAb 4+ H N
06 (® [Interactive DVDs and CDs] are better | than books | because they give you a sound (to imitate), //
[S] s va o B Lo BEARS HE AN 8
b = Interactive DVDs and CDs
but they still can never replace a real teacher.
s
b = Interactive DVDs and CDs replace : CHA|SHC
A2eto| pvDet CDe= AAS0| off 20 2e A2[5 HSoH7| W20 MECh= O X2 o5 23 HN WAS thHE == 8iCh
finger EIto 2 AFSIL  collaborate gsict = ook i o .
a L} & xatA L Jio] QAIE Egf 2ot
note s sxm stage fl'lght Shjs== zll_%—l T'._Ol |- E—'—% I:lE—_rL EI:I-l_ 7Hl_l J-LAl-E OOH = 1
count HIXLE RRCt recital AF2 = HYi{{OF oCh
posture KA interactive Haretol
out of tune 7HEFOl| Of ZLEA| replace CHAISHT
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13Z Exercise 08 Szt EH  p.085 &% 7tsst s 4

Fo 2N

engage in~: ~Of| Zo{5iCt M5 practice : 2Hel balance : &2 YL}
rE F
01 |Food growers and producers (Who w [sustainable agricultural practices])] balance |the long-term
[S] Al - sustainable : X| 7}t

environmental effects of their farming or ranching practices].

= omT o

Mots A RIS YAXSS RSO 50| B3 2F Aol Y20l ZH BF| 0j7 Fol FHE TEC

ranching : S&-2Y
X% kst 5¢

i}

mjo

groundwater : K|Sk livestock : 7t

2 @ They might protect [groundwater and streams] | from [livestock waste and agricultural chemicals],
v [0]

L' Food growers and producers

ol

i
mn

of OS2 7I%2 H7|2i s =R X|5t+et /iES EsdA|E BELL

involve + ~ing .
03 (@ They might use [integrated pest management (IPM)], | which involves [using a pest’s natural enemies,
s v [o]

L BACHBALL ASHEE = MK+ EH%‘W‘ ==and this (IPM) involves ~

»™HAF+E p=natural enemies =1
| such as [adult lady beetles and their larvae], | because they feed on lice (that klll plants),] |/
vV K_'_A_I/
. feed on~: ‘~2 B AP Jouse: Ol(pl. lice)
instead of [chemical pesticides].
Instead of (AX[AL) + FA}: ~CHAl0f’
Instead(—'?'—*f)":l cH4lof) pesticide : &S|
J52 8% six #2| qPME O|8YX|= BE=0O Cf Agh SEH et O REM Z2, siE2 MH0| AES F0/= 0|F H1 7] 0| 2HIPM)E
stet H5H| H“Oil O MHEE 0|8Sts AS = oih
AP 8% 20| (~3He &) - REAL+
04 @ In some cases, | the IPM strategy might be [to 51mp1y harvest a crop | before harmful insects can cause
\ [C]
damage|

05

»the other : X
06 (@ [Another sustainable practice] is [rotatlng crops] — [planting different crops | in a field |
[S] vV [SEAT
. get +pp. = +SEY

during growing seasons /| so that the same_crop | each year | does not deplete the soil or, get wiped out

b during (T X| AF) + ( 7|7’ BAL: - so that Vi (does’ not) Vs

L while(B & A + & 1 -7t ~3l= S0b  ~— 50 that — deplete : LZEA|Z|C} wipe out: TEA|Z|C}

1 ~=h|, JeiM O

| by pests. 2 67| SlolM, —otES

E 12 K| Uit A2 KBS WO AL 2 5 ojd 2 A20| £ DUAP|ALE 50| ol MK UEE (RHBo)) AT Al7|o| SH N2 o

= %82 d Aoif

* larva 35 (pl. larvae) ** deplete 12 A|7|C}

. o e
engage in s pest e HE 2 KIS JISE S AUSE NF ARSI U
sustainable N s management e XIE0| ARSI FE

| B |

agricultural g9 natural enemy e 1. 7k=0| H7|21 }_Lé;glt 2EE X|5}29 S B3
practice A, HH lady beetle L 2. XH2S HZio} AlY|
ranching =823 pesticide HEH
ground water X|S= strategy M=t
livestock = corporation DA
agricultural chemical &9 rotate B ZoLStLt
integrate STt wipe out ~2 MEA7|C
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depend on: 2| ESICH
01 [Most consumer magazines| depend on [subscriptions and advertising].

[S]

subscription : T+

account for : XkX|SICH

circulation : ZHOf 2~

02  Subscriptions account for [almost 90 percent of total magazine circulation].
S v
[Slngle copy , or newsstand sales| account for [the rest].
[S] boor:
T=2 TN TR HHOf £42 Ho| goHHMEE AX[piCh @ ChAl s ZHICH EONZH LIHX|S KHX| o
revenue : =<
T PHEA L+ E
7 (R3] However ! Ei]ngle—copy sales] are important: thsey brin/g in more revenue /per magazine, /| because
[subscription prices| are typically at least 50 percent less / than [the price of buying single issues].
[s]
SEX|2E @ EOf7F ZRsich g3 Tofe EXA o Y O B2 $£A8 /MMM, Ol 75 7H40| BEE S H W JHHED A& soHdEE O MY IE
O|Ek
» by ~ing : ~cu|-|k|(°F 2Ch
04 (C)IEVLT4, [potential readers] explore [a new magazine] // by buying a smgle issue; [all those insert cards
S Y [0] [S]
PR ) P RAPE 21 85 (~317] ASHA)
(with subscription offers)] are included / in magazines // to encourage you to subscribe.
V($EH) V5 =50 SXEOf
b encourage + SHO| + FHHO0](to R) : *~7} -t = & FE{[SE]sCl
ACHY, AA SAE2 E3o EXIE FUELEN MER XIS BASICHL 7= CH|ZE e O 2E &Y &1 7IE= &9 758 =2{oh7| s TXof
=017F UCh
distribute : =HHSICH F-SAIZ|CH
05 Some magazines are distributed / only by subscription.
S V(+SEH)
O TX|= REX| F=0i| ofsiMPt FSEICH
__Zr.
2l 06 [Professional or trade magazines| are [specialized magazines] /| and are often published / by [professional
o [S] V1 Vz
associations]. They usually feature highly targeted advertising.
L'hlghly '?'*I') J.Ixr°| u"o
high: ®&Ah) ‘&2, AL *=0[’
=27t TRl CHAl 2ol YAXl= S92t EXo|H &3] H27t §.§|01| o8 ELHEICE OS2 BS U BXE FUE EFYC=Z it
07 (A) IEAEENE, the Columbia Journalzsm Review is marketed toward [professional journalists] // an
V(& EE)
[its few advertisements| are [news organizations, book publishers, and others].
[S]
O£ =0, ‘Columbia Journalism Review'= M& Q1ZCES HACZ O EE ot 1 &X|Q] & ¢ Fl= 1= w2 7|3, LA S0|Ct
objectivity : Z§2Hd
08 A few magazines, like Consumer Reports, work toward objectivity / and [E{E0 contain no advertising.
S Vi V,
‘Consumer Reports'@t 22 HHE TX|= AHEE X|&stn w2t F0E AX| R0t
* revenue : 5+
subscription 75 TEE insert YYD, YY= =
account for KEX|SHCH trade magazine AR A= 8% sAS2 TA9 o M| 5 | [El'El' BXE o
single-copy 23 circulation o e EHS|= HiAlO| Ch2C} YUHM oz :rLEO|' dhAlnp Ch SLOj
newsstand 7HEtCy publisher SEAL 3= HIAl E =X}o| X|Sk0Y| [FakA] MEHSIC
objectivity RS distribute &0t = &4 & SAtel #30 [Epd 45 I-
single issue o A feature £¥8g o|FLt D (A)-(C)-(B) @ (B)-(A)-(C) ® (B)-(C)-(A)
@ (C)-(A-(B) ® (C)-(B)-(A)
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]
MM

olo

O] 2= 20| CHSt Borgell 23|

I

01

02

03

04

05

06

07

FALOL . ro|nu|. MY

(S0 =] =

Victor Borge ; American comedian and pianist; always made a point of observing his audience | closely.
S V; CHXIAL + S b closely : £Ah “RA3|”
make a point of ~: ‘28| ~ S|Ct, FES Bfs|Cp
Oj=0| RO|C|AHO|X}t MOt AFEIR! Victor Borges &4 AHAO| HAS OFF |43 {1 JUCh

P HEA+E - =his audience - Ao FB ZEAL=used to: ~3h2 ULk

If [any members of it] responded poorly, // Ould try different lines of approach.

RO} Off TAO| AlEIX| 7 HHSBHR, i CHE o)

==

i)

o= A&k SHACH

confront : &/ HSHASHCH
EAREQ Ojnjate] 70 BET} -
One evening | he found himself confronted by a table of six, | all totally unsmiling.
s T vs 20 SE 0] SERARE
Lfind+ SX0{ + SHE0(pp.): 7t ~E HS YA ZICH b =and all were totally unsmiling
Ol & MY O oA Ho| M3 oF HO|E 0| MA ER=0l, 252 25 RX| 2 JUACL

p he failed to elicit any response during the fifteen minutes =7} AbO| elicit : ZO{LHC}
P HA|AL + ZHAICHEAL + SRS R s

(C) After fifteen minutes (during which he failed , despite his best efforts, to elicit any response), //
e b despite vs. although : OF2ff A H &=
in desperation : H8}S|, RFZEX}7|5}0] fail toR: ~Of | Zstch
Borge ppealed to them | in desperation | to tell him [why they were not enjoying the show].
S%0] SXE0| o [-2)
L'a|0|oeal to+ 20 + BXHEO(toR) : *~0f|H| ~S} =& SA8ICH LZFHO|2 2  WAHEHO)AIE] : o+ F + &
(il il’.‘i o 3o S5, Ot o B8 O[B0 WX XE 1522 AlZh 0], Borge= AEALZ|SHY OS0A off 45 &7/ AKX L2X| el &

N unintelligible : 2O0t=2 == Sl=
Laa . S0 ~as toR: B YER B/ OFF SN | L
(B) One man replied | in English (so heavily accented as to be almost unintelligible),
S v

UARNT EX4Y

“We come to hear you play piano. Please play piano.”
V5 BEo| Sxof
L.x|7PEA|-+Ex-|01+EI-IEoi(R/ ing: s =5 )
(B) ok ARO| 2=l METH ASHA ER{LIM A2 °*0f':° T Ple g0z OiERch <R2l= GU0| Dot Xj= AS 528 AFULCHL Lot AT A

=

P EAEA ~3}"
P BAEEHNE): vvhat+§2”“°“5.-_*-

p=hiy )

(A) They were Latin Americans || and had not understood [a word of what Borge had been saying].
S Vi V(I HYE - &) [0] La7ieteE + 1Yy

(A) OS2 2HEl otm2|7F AFE0IAL Borge?t o 2EH S SIOCIE OSSR RAUACE

He played the piano, | and [the faces of the six] ht | with smiles.
S v [S]

0|22 gAML

N

= OO S AFHA, O oMl Fo| A=

rlo

make a point of 22| ~ BICt unintelligible olste == gl= D (M)-(C)-(B) @ (B)-(A)-(©) @ (B)-(C)-(A)

confront E|HSIC} SEACE elicit SOjL{Ct

@ (©)-(N)-(B) ® ©-B)-A

accented QRQIMEILERLE=  in desperation  AFEX}7|SHO], HYBLO TEK|A} vs. HEA

* despite(= in spite of) : HX|A} + AP0 2]
* although(= though) : E&AF + E(S + V ~-)
*during : HX[A} + ':”*f'éoiﬂ

*while : FHA+ H(S + V ~)

*because of : TIX[AF + HALE O
*because @ FEA + B(S + V ~)
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Fo 2N

common : LEHH QI =k that + 2R3 & constant : K| & QI
HAE H& Ak Eﬂo{"* PRy F at ~ speed[rate] : ‘~H ==’
01  Common experience tells us [that an_object (that is moving | at constant speed) will eventually slow down
S v4 ~OfA [~-E] s Ry~ Vi

A E B Jh-SX| QECHE ey rkeep+ SHO + BHEO|(-ing) : -7} ~SHES REIBHY
| and come to a stop | unless there is something (to keep it moving | at constant speed)].

Vs Lip BHALO| H A 2
come to a stop : H3=CH
LutEol oS S °EI" QS £ 2 FHO0|N e EMe FALTPE A0 2FSH £=2 0|7 of FX @i ot A= £30| E0f E1 HFA &
fHE 202 2T 9
SN
02 (C) An example is a vehicle or a bicycle (on a road).
() 2 ®I9| XSt AFHAE StLtel oz & 4 UL,
accelerator : 7HA T £ stop+toR : ~ot2{ 1 (S}E %%) YL
SEEAL+ E take A off B: ‘BOIIA AZ HCH CEEA 4+ H stop + ~ing ; *~BH= HS ML)
03 If the drlver takes [his or her foot] | off the accelerator, | or if the cychst top pedaling, |/ then
v [0]

[the vehicle or the bicycle] will slow down and come to a stop.
[s] Vi v,

2tef REAVE 715 HEOIM 22 HOHH, E= AEAS B A0l IE F27|5 HECHE, 3 O NSAL A £30| 0152 HFEA Eoh

)

friction force : OFEH wheel : HH3|
- BAHE ’é‘.**f(ioi M) :that + 2HEHH between A and B
04 (A) The problem here is [that there 1s a frlctlon force | between the wheels and the road, acting backwards ,
V [C] -----------------------------------------
bring — to a stop '~O X*X\/\P’l':f CHEA+E | SBEATE FUMY.
7MY

/| and it eventually acts to brlng the bicycle | to a stop | if the cyclist stops pedallng]
stop + ~ing : ‘~8l= HS HELCh
b =friction force  act to R ~she g3t F stop +to R : ‘~5t2{ 1 (StH Y 2) HFCh
(A o7 | ‘| o FHM= HHFQt =2 Ato|of oy Heto 2 ASSh= OFEeio] EXsHH, A2 A= AHA Els AR HE F2& AS HECH AHAE A

otCh= AO|LH.

fjo
Ok
]

PP I i+ S+ IASA -, S+ ZEAIAEEN + SAY -

05 If the friction force could be reduced /| then the cychst would not have to pedal so hard.
S V(T SEIF2]) hardly : X

B, 2 KA Bl MRS HES O"A MA SR @ot: & AO|C

=

air resistance : &7|X{g completely : 23] coast : (BHH 2 2)FZ[0|Ct

r7P‘".'=1 A i+ S+ BASN - S+ ZEMUAZE + SHEY

06 (B) PN if [friction and air resistance] could be eliminated | completely, |/ then the cyclist could coast
S Y

V(F+SEIF2))
* at least: MO = level : mmok
along | at constant speed., at least on a level surface,. | without havlng to pedal | at all

m
rg
=2
_>._
i
L"_
o
r
T
Rl
62
=
ne
>|
JF)
HTJ
a
=
o
Ral
»n
ruE

(B) 2|4 DFEEnt 37| Mg 5| MAY & ACHH AHA Ete MRS Ho= S
7

object =X imi QIOHC}, ®|H3IC = oy .
j ; o eliminate B X2 9% YutHol A £ P2l UM SE2 20|
& Yo C 5 5
constant spee E; =i coast : FEE—. Tt 1 e ENs 207 O70] LMot 222 2ZI0|AH 6
IH I & -5
come to a stop 3 level 3 7x| g ot 2= £20] 0| S1 A EHCls AHg ¥
friction force o surface =2H QIC}
bring ~to a stop  ~2 FXIA7|C accelerator (Rrsxtel) 744 m|
° @ (M)-(C)-(B) @ (B)-(A)-(C) @ (B)-(C)-(A)

air resistance 37| MeH @ (C)-(A)-(B) ® (C)-(B)-(A)
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%{tﬂ%l-,-ﬂ—g% ................................. P AHO S ZF A= used to: ~Sf2 FCE
01 Groups of Inuit, usually all related one way or another, would for m [a group or band] /| and move
S one ~ another ; ‘0|21 X2 ~ V, [O] \,

together | from place to place | in search of food.
from A to B: ‘A0A BE[HX]])
from place to place : ‘0|2 X in search of ~: ‘~= &top
O AloZE Cj7f RSt AMEAQ OjF0|E BEL Be A Kop WEO|L 22|12 0|20f 6f7|X7|Z M o|SSIE Yt

Fa~2 AZSHE 8

a2 AXstE E8AME ME8HEN)QET Aol
C e T} AF QO SJA[SHE BHHSHAANOE MY &
02 These groups varled in size | from a few dozen to a few hundred. ofq b ARRE BYBH(TA)2E 28 £
S from A to B: ‘A0A BE[ZHX]] .
vary : Ef QFSICH *alive, asleep, alike, afraid, alone, ashamed, awake,
Ol Hth2 HY Yo=2H W HJX| 11 27|17t CHARYCE aware S

>
»>

ex) He is alive (O) vs. There is an alive boy (X)
—

LA spend + A|ZHE +~ing
03 (B) The men (in these groups) spent almost every single day / searching for enough food /to keep
S Vv *enough + BAH+toR / V5
* A A AL+ enough + to R
. . o8f Ob2 £EBKS
their people alive. oSN g A i
Sx0f Sx5of

keep + BHO| + 2 HO|(HRAM) : - - SXISICHE ST

(B) O] HEte| HXE2 A7| THO| AIRISO0| A% WESH & + As S22 Yo HES NS HOICHLH Ho| DjYS ERICH
-7} =87 w2
P EEAL+HE r)xiAAhhatAuat
04 They never hunted for [land animals and sea creatures] | on the same trip, | as they Delieved " [that would
s (o] v [o] B0
R
anger the spirits]. jitadoid Al
ds2 Hof ok #ol (AH) oHoM |4 20 iY S=2 (Z0l) ANFOHA| =0l D42 OA st= 40| EES LA & Aojata 50| ARAT|
=0Itt
»=When they hunted on land
r HEME HAE SSEAMTE ptHO| B ZEAM = used to: ~B}2 HCL
05 (C) When hunting on land, |/ the men would climb on wooden dogsleds, | known as gamutiks.
S Y L =which is known as ~~

known as ~: ‘~2 ¥’
ZOAM AtEE Iff, HXE2 ‘qamutik2tl 2Tl LIRE CHE JHM0fo| 22tRCH

faithful : A2

06 These were pulled by [their faithful, hardworking team of huskies or gimmigq].

5 V(+-SEH)
= gamutiks hardworking : £X| 2ot
0| +%° O59| SMAHD X of7f 0t2|9| 3|27, & ‘qimmiq0fl 28 BO{FCE
moss : 07| 55 (~817] /i)
coat A with B:‘AS E'HEHE'_EOHZH PRMNH 8 p=sleds
07 (A) These sleds were often coated | with moss or ice /| to help them slide easily | across the snow.
V(+SEH) N I

LEMNHSA+ 2HO + ZHEOR/OR)
Ol MOiE2 = fI0M O|12{d LWie O =20 £|=& 29| oLt HS2 EHACH

08 Some sleds were short, | measuring only a few feet long and pulled /by several dogs.
S Vv DEMTE(SE) b EARE($5)
measure : ‘(Z0|7h ~Cb
HOS2 oM R mES| ZO[SH0| EX| AL 4 A4 Or2|7F SACE

jind

O-III

I

~H|ZZ A0 (& M) : much, still, far, a lot, even
09 Others were much longer, | and | pulled | through the snow | by a dozen hardy dogs.
S Vi (were) \Z
hardy : EE%, 2l

) O L

E o AS2 g AN Mo Op2[2] Zolst HS0| =EoM SR

i}

hund * e Towe  soee
in search of ~2 Ho} Spirit (Sl

vary CrfFstct dog sled 7’4 4

moss 07| faithful 8282

hardy Yol
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economics : B[} e~ P AR 84 B (~57] fIsiAT) approach to+ AL ~0f FH2 PR F
01 ‘Economics of Happiness’ 1s a label (often used | to refer to a recent approach fto assessing welfare (whlch
S CIARNT R4 LXK + SHAT .
AN LA (A
combines [the techniques typically (used /by economists)] with [those (more commonly used /by psychologists)])).
CIARNT $XRY (B Lo Ar-'rlotl**'
combine A with B AgtB Agsioy ->=the techniques : &
YWE A2 AMSAE0| YUMo 2 ABSts J|YEN HEISAE0| O 23] AH83t= 7|BES B, EI| dorote M22 H2Es 722 I X5 A
8= H20|C.
rather : Ct2~ peculiar : £0|%F subjective : T=2H4 QI
XN
02 (B) By ‘happiness’ is meant meant something (rather peculiar), KiifZ#8, [the subjective state of mind of well-being
S (~thing + H8AH X34 5
PR 2 (thing + HERA) al
(that people are asked to self-report | according to [the qualitative or numerical scale (proposed fin the
il V(FSEIF2) b M| Ap ~of ke LIHEALT SX| S 4
bask + SH0| + SHEO|(to R) : ‘-0 Al ~3}2t 2 R FSCh o =58 qualitative : X 2! numerical : =X 2! scale : M=
survey question)])].
(B) ‘W=0jgts B2 CfA SO[oh 2, 5 AMYS0| 22 XA F20M MAIRs ZHQ M Ee Ay HE0| M2t A7| 2astes 27 =He d=0f
FEHQl HE| HEiE 2J0|gtoh
branch : £0F ~0f AEBICh ﬂﬁ°l%-§.% HEHORLE] 2| + F LTS Fstct
- concentrate on -~ : FAR(EHOE) : what + SATE E take a stance :
2 03 (A) BIETEGT, this economic branch does not concentrate on [‘Wh happiness is’]; FELIE, it takes
= S Y, FEER
pragmatic : -850l content : LI (&) measures : 5K
a pragmatic stance jon [the content of ‘happiness’] | by focuslng on very simple measures, | so that
bby ~ing: ‘~Z2E2M, ~o A : &, +E2 LIEFY S0 that
~~~ S0 that ---
. . G g ---C
[many data jon the same question] can be obtained. 5 'gr,l“ﬂ‘;h AHH o}gg
[s] VEEE) -
oy EEtEW o| B3 =0k “U=0IE 2AHOPO HSSt= 20| OfLlel, @ol2f D¢ Cheth ME S0 £HS 7|SPo2M =0 WM et 48X Y¥
= 75t 20t Yot ZE20| oot B2 HoJHE 28 4+ RUALL
abundance : =5¢t exploit : O|-25|C}
»=50 as toR:*~3t7| YA
04 (C)[This abundance of information] can be usefully exploited by econometric techniques | in order to study
[s] V(s ,
(TSEH) g
the determinants of happiness, | although causation is difficult to prove.
DEEAE HE 2t -stR DEXR g g 24 (-Stt, ~5710)
determinant : 2820l causation : Q1 1H2kA|
(©) O] S50t Y, HIF 2t HAE YBI7|0= o2 20| A7|= AT, d=52l 2F Rs AT fI6iM A FHtel 7[ES0 2siM FE3H 018
ER
* pragmatic -85 QI
; h[k=Ts ot s s S
economics if;q — qualitative QZ—'"O.J — X2 QOF sHEZAF TS SHE0|2t 2TV RFSH= 70|
IE o o 1 2 20| 1 . = |= 15
assess L numerical T"':T *“““o OfL|2}, 3|2 Oj@ Ehedt M= S0 _’F_EE 2o EM
technique 18 7% scale A=8s, 12, 99 20| Ligo| ofet 480l Yxg s, 1 Zu sUst M
typically YEHOR BE  abundance &5 5 20| Ciet &2 HIO[EIE 20| W=o| 28205 A7dte o
concentrate S exploit 0| g3tef, 7HEstrt 2o|c}
stance AUY, Bk, XA econometric Az H e .
I ) ° D (A-C)-B) 2 BHAKO) ® @HO-(A)
measure HE, 71&; 585ttt determinant z2gael @ (C)-(A)-(B) ® (©)-(B)-(A)
peculiar =570, 0|3t causation Qlap 2HA|
subjective FEH0l
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01 [The Australian actor Frederick Mathias Alexander| created [the Alexander technique] | at the turn of the century.
(sl \4 [O] at the turn of ~: “~2| H=t7|0f’
RAEZ Y2|0te| HY? Frederick Mathias Alexander= A|7|7} HFE F 0| Alexander 7|2 TH=0] WL
chronic : PHI& QI A0l
N
02 He had chronic voice problems | and went | in search of a solution (to save his voice and career).
S \YA V, in search of ~: ‘~= 0P Lto BHAIS] HEAH 81
Jd= DRl F42] 2H7F AU ALe| F42|e XHYS FHSH| flot sHAMS Hop LIMEL
»=while he was on state »=while he was resting
HAAE HAE RS HAME WIS BARE
03 (B)He frequently lost his voice | while on stage | and regained it | later /| while resting.
S V1 VZ
(B) A= 200 A= St BIHS| XHhlol FAZ|E AN LESO| +l= S =H/UACE
discover : 2 Z45IC} 2HOFLHCH study : 2HEFSHC} posture : XtA]|
A~ N .
04 In an effort (to discover why), | he studied his body (in the mirror), | watchlng his posture |
in an effrot toR: ‘~8l2{ = MO 2 ~8}7| IsA’ S \% LEERATE (BANE (RIAHRD))
during movements | very closely.
L»durmg(x‘l | AI‘) + (7|7|)D4A|v ~Eor
»while(F&Ah + & ~7f~ t= &0
Tor(EAIAf) + 4+ 741 -5 ob
1 O|RE YLOI7| flot =3oz O= o3 A 0| O|F0X|= S A2l XIME Off TS| BESIH HE %0 H|X Aol 52 |5 HECh
mimick : SLHLHCH frequently : 3] PUHEHEE *f(E’“W)x}ﬂ o+F+F shift : O] SSHCH
P HEAb+E P BAE(SHOIE) how + 2ATEHH
05 (C) When he mimicked his acting roles | he frequently noticed [how [the position of his head] shlfted I/
s v Vv (o] [s]
place A on B:‘AZ BO| FCI
placing [increasing levels of stress] / on [his neck and his breathing]].
LESEATE [A] [e]
b=and placed ~~
(C) AHAlo| &2 B et gWf & W O= Ahilol K2 f1X|7F o{EA 0|S5t St 250 HH =2 &2 ¢S F=X|E HIHY| AX|RL
r?.”é‘.gl-E--E- (BAEHRE 2+ F+ & correct : W7FSHCH
BAME(SHOE) how+ 2HT H LA
06 He could feel [how his throat tightened] /| and made attempts (to correct [the position of his head and
Vi [0] V, [ correct2| 5%01 ]
. make an attempt toR : *~5t2{= A| =& SICh
body| / while he delivered his lines).
DEaas " s 59
5 =while delivering
d= OIAE Edte S OfEA S7YO| ZOX|=XE =2 5 UYL HE|eF Z2| /XS uHdte= A=E FCh
postural : kM| 2| attitudinal : Ef=9]
_z’_ - EHAPH xiAAl-(Exicﬂ ) that+ etHst A
a 07 (A) He belleved [that | by _cp__rre_et_l_ng [negative postural and attitudinal patterns] | he could influence
T [O] Ly ~ing : ~2tQ M ~oiA" . ', S LIEHA s v
his health concerns].
concern : 24, A%, 2HAAL
(A) A= LHE TiMQt EfEo] RS nETezM Aol Ao 20| deg = 4+ Atta TACH
~because : HEAL+ B(S + V ~) correct : ‘&t
- because of : TX|Ab + HANE O] . .
08 Because of [the importance of correct posture | in healing from injuries], | [the Alexander technique] 1s
Lin ~ing : ‘~ &0l A0{N, ~& 1f" [S]
[an excellent choice of therapy].
[C]
FHM 2 =5t= Hole Feot ZM7E S25H| E0 Alexander 7|2 Ef 2ot MEHO] K= HO|CE
chronic SRS L s v RS regain =py) > >
correct ams HE study S Yol Lt o P A S e S e
postural PO K] mimic S Ly =80 g2 & + ULk
attitudinal Ef =0 shift o|s3ict
o = @ (A)-(©)-(B) @ (B)-(A)-(C) ® (B)-(C)-(A)
health concern AL 2H throat =74, o._|:?—_ } @ (C)-(A)-(B) ® (C)-(B)-(A)
posture XA tighten ZO|X|C}, WXt
therapy Kzd, K& deliver orsiC) MTrsic)
frequently B3|, Xt line CHAF
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remarkable : 2AX{ot S EIGH competence : = emerge : LFEFLFCE toddler : OFEOFEF = Of 7|
01 By 18 months, | [remarkable emotional competence] e erge [ in toddlers.
[S]
1870 0| =™ OfFOY Ze= O[S0l =3 ohet "MZE S3O0| LIEHHT,
P EAHBA: ~OhE 2 awareness : 2| 4]
- begin +to R/ ~ing BAR(SHOIE) -what + SRTR S
&l 02 They begin to exhibit [What scholars call “self-conscious emotlons, "] emotions (associated with awareness of
T V [0] s V5 Hoj(~2t1) = LCRAHEARR EX| A
r 2 F
a “self” (that is judged /by others (e.g., guilt, shame, and embarrassment))).
il >the other / another : X
JE2 BxS0| Y| ONN FAOlD REE X, F OIS SO AMY, X4, DY 22) S0l o) BEtEs KAL) Cf 4T GRS BME Lt
7| AEsiC)
rouge : FF(YUE0l| BI2= A)
place A on B :‘AE BOf| FCp
03 (C)IE@EENE, in one experiment, | researchers asked mothers to Place rouge | on [the nose of their
S V5 S50 b = mothers
L ask + 575101 + %"—110100 R): ~0II7II ~6f2ta 2 gsjcp
toddlers] and place them | in front of a mirror.
SHHE0, b =toddlers
(O OIE =0 o MM AAXS2 oL SO|A Aol OFEoLE H= Of7|E2 20| Y=AURIE =5M 1 OV|SE AHE 20l =0t Fatd QERUCE
LA seem toR: ‘~Sl= A ZCP
04 Toddlers (younger [ than 18 months) seemed to have no emotional response.
LEBMT 3H2Y v
1870 20| E[X| %2 OFYOLY Ze OP7|E52 FMA Hhgg TS HO[X| Q= A ZUCL
»=when they(toddlers) looked at ~
HEAE AR SEEANTE <
05 (B)IEAEYER, by about 18 months, | the toddlers became upset | when looking at themselves (in the
S Vv LB AL : T4 = SFof
mirror).
(B) StX|2t 1870 RE0| &|H OFYOLE HE= o752 HE £ AHE HIZIERES W FEsiUCt
PHAA 4 E H|E -7} -S| Tb
06 th gh they didn’t know the word, |/ they were experiencing embarrassment.
\ S \%
b = toddlers b = toddlers embarrassment : =+2tet
252 1 U2 YxE RRXY LEAS LD AL
empathy : 52
begin +to R/ ~ing T~
07 (A) By 18 months, | chlldren are [EIf] beginning to develop the ability (to feel empathy ffor the emotional
vV ability toR : ‘~St= &’
states of others).
(A) 187HE0| | OFO|S2 ot CHE AMZIS2| YA HEIE Sddt= 520| W7ALL7| A|ZlolCt,
evident : =t
~HSAb+ R 2-years-old : X ~the other : X pEHFH
08 [This level of development] is evident /| when a 2-year-old offers a hug | to another child (who is crying),
[S] \ s v PSR
|| as if to say, “I feel better when mom hugs me so I will hug you.”
b=as if he or he said ~
22| O0|7} “A0pJL LIS JHQISH LY 7|20 LIOFX|L7t L d JAQtOF =772t Hotd= XO0| 21 QA= CHE OF0|E Aot FCHD & [ 0] #=F9
Were 2o cojdr
20t 523 7+ ZHA |0l o '
remarkable f;JJ' 8 empathy fr: 480/% A& 29 1870 E0| &[T orgord H= oS0 A= "A7| 2
competence 58 N St??te S H+ . AN "ML 47|0, ol EE0| Qs EHote|= (KR CHot
emerge LIEFLICE, E9d8IC  evident = o, st oAl Gi3bEl M AO|Ct
toddler OtEorY #& op7| hug I3, JHOtCH
. e : e D (A-C)-(B) @ (B)-(A)-(C) @ B)-O-A)
self-conscious INEREEES L experiment e @ (C)-(A)-(B) ® (C)-(B)-(A)
awareness QIAl 2 S rouge EEpul
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approach H2(E)
ALY HAASHOE) : that+ LHE H HAPE HEAHSHOH) : that + 2 *E“é‘-
01  Many people out there think [that they've got the answer], [that their approach is the best]|,
vV [0]
L BARY JHAAI-(EHo-i B that + 2B '
[that they have the truth].
[C:]
2 AMEHS0| XS0 HE 21 Aen AISo] YZYO| ‘&0|H XH7|S0| TS QTh M2t
contradict : &&= |C}
HSA+ R
02 You've met some of them, yes? They can't all be 100 percent right, of course, | because they’d contradict
Y s v
each other.
each other: A2
o2 18 & ¥ ®Hs ULt B2 HelM, 28X 227 28 152 2F 10o0fdE &8 = Ql=, 1 0|fs 150| M2 &3357| I=o|Ct
r Y204 “too’
- EHR0|N 2t
03 (C)N£A the opposite doesn’t make sense either: they can’t all be 100 percent wrong | all the time!
S s v
make sense : O X[Of fCH all the time : &4
(C) ALt 1 ZEHE OfX[of SEX| 8b=Ol, & 50| & 100HME E2|= A2 OfLCH
by nature: 2AENHOZ
perspective : 2 B limited : K| SHX{ Ol
04 WMSEEG], everyone comes from a perspective , or point of view, | which, by its very nature, is limited
R Y Lo F LAY BN ST = B + A
L=and this (the perspective) is ~~~
. L, whiche AHALE
and partial. 1) %] EHBAL- 1 YA $U%|
partial : B 1, 250l A UE - F2U BT
CiAO] REoF 2P, & B AZLERH L=, I42 22 MetEo|n HI=o|C)
the H{ZF ~~, the HIXF --:~~8}H &4E ©f
= . take into account : T12{S}C}
2l 05 (A) Y61 the more perspectives you take into account, | the better you can understand something, |/
RNy
(ShOUId) relationship with ~ : “~2+2| 2HA*
whether it be yourself, a relationship /with another person or a situation /in the world.
L whether + S + (should) be A or B Lrthe other : X
L <A0| £ BOIE ZHol|" : St H QI Z0|Lt 20K 2/AM0IM 71T A
(A) d2|2 of2{20] O B2 HES ACHF o2f22 17{0] Oof2{2 AHMO|Z, CHE AMRIDRO| 2HAI01H, Mol &gold ztof BIHE o & ofsf & += RUCH
the H{E ~~ the H[RE ——:~~BIHELE O - fallacy : @F
e Hlit ¢ IL. o 1 susceptible to+ N : ~0fl F&7| 4|2
06 (B) IMNAIESA, the fewer perspectives you conSIder, /| the more susceptlb e you are /to [fallacies or
bthe H|W(GHEAt vs. £A
LA LEI| SATHEO(HEANE BRE S BB/ +40IS a2 ot 24
misconceptions (resulting from a limited view)].
LT EAT SX A
misconception : 23} result from + § Q1 : ‘~I{ ZOf| MAHLICE vs. result in+ Axt:~2 T %01 Lyt
(B) BHHO| O2{20| O X2 2FS nB{EE HNote HFEELH HRE FL ORE M2t dakg 2|7t O &k
CEAHBAL : ke A ignore : FLA|S}CE YES}CEH
FESES -EAE(EEHO ). What+§%”.‘i?l’“ - by ~|ng ~ot0§w ~SliA’
07 A fallacy occurs | when someone reduces [what they understand to be “reality” /| by ignoring important
S Vv v [0] understand + S 0] + SE E0{(to R) : *~7} ~BtCt D O|sfistCH
thereby : £ A <1 ’a‘ﬂt, dzolsy’
perspectives], | thereby arriving at misleading conclusions.
LEEEAIRE misleading : X% RO 2 0|11
b=and arrives at ~~
QFE= A0 Fa%h HEE FARSEMN XHUO| AFYO[2tL Ofsstl = A ZHAAFIEE 1 Al QHE ML= AE20| ST O Wl
*susceptible G 27| {2
contradict Y3, 2250 occur ECEl 5 00
, ! aur 2 Q0 O LS BMS ZtolstaE 74 AlO|A Cf2
perspective £ misleading LPE oz oL XE % O 2 2HS .:..:P A 2| XEf clold, Eh
take ~ intoaccount ~2 ZQtSICH conclusion 4= AtEfrel ZHA01A, Mlde| o=olz o J7E o & ﬂ ofaH
fallacy & opposite Feryol A gt 4= ULk
misconception ARE 42t partial HIH 2l
E @ (A)-(C)-(B) @ (B)-(A)-(C) @ (B)-(C)-(A)

@ (C)-(A)-(B) ©® ©)-B)-A)
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o1 [Honoring heroes] is best done | with love.

A = A

tREOLESHE Vs X G0l 0B A} + B2l BEA - 501+ (10l + R--

SSO|A ZOE met= HS AfEOZ JPR A sB|EICH ex) It is essential that he (should) work hard.
> O|MA THERe| -8 Ak(important, desirable, natural, necessary, essential, crucial &)
CHAE HEA(FOI) : that + 2HSHH YEH o] Y& Al(curious, strange, fortunate, surprising S)

02 It is essential [that [they and their deeds], be taken | at face VATUET.

L 71F0f

St 259

[ =01 [s]

(should) v

HRE AT JCHZ HoS0l= A0l S

appreciate : £17H5 LOHELCH
- QY LkstH in ~ing ;8o QLOjA, -
03 For | only in doing that || can we really a rec1at , for better or worse , [what has transpired].
L 230 E*H‘--+ QZE 71X S B YT [ appreciate2| =%{0{ ]
LEEMOI AL ZEA + S + SAYE eE
SfLFSHH DA 6H0F':.'_f 2|l F= LiE ot Ao| IS Moz Lot 4= UA7| W=Oolch
deal with ~: ‘~2 CHRELCF CHSICP acceptance : =& sufficient : =+
= cofLpetel -
2l 04 (B)IE [dealing with heroes | only at the level of acceptance] is not sufficient, | for then we never ask
= [%%AHLTM Py Y 5 )
[what could have been done].
ZHHO|RE  BA(EHONAIZ 9|+ 5 + &
CHAE(EHOE) what + EATSH
(B) 2Lt =82 +=EMT FZES tots A2 SO G20, 22 fEl= FA0| W = AJA=XE 23 =X @= A0|7| WZO|C}.
implication : A|AHRAISHE A contribution : 7|0
05 What are [the possible implications of their contributions]?
Vo [S]
Q59| 7|07k AINE 4+ Ut B Rk
not only A but also B : ‘A% OfL|2} BE" -
06 (A)[The function of memories] 1s not only [to let go of the past] but also [to lay the groundwork (for
[S:E] A9t BE HHHA N
let go of ~: “(£0{A]) LH2{=Ck lay the groundwork for : ‘~Oi| Cii$t ECHE OFASICE
[whatever comes next]].
SEBACHB A A CHEAL + ever) : that H| 2]
L) AR 3t BE HARY
2) FAPE(RAMRIZ]) : o~ SR| 2
(A) 7199| 7|52 EX| MAHE 5= ADO| OfL2t FA0|= CHE0 2= Ao Ofet 7|ES Oidks A0|7|= et
front edge : Z|M& o =24 - from A to[toward] B : ‘A0 BE’
e
07 It is [the front edge of a learning process (that can take us | from [ where we were] | toward [whatever
L=the groundwork A @A) (the "place) ESHRA AL
HALE (B AR 2)
we might become])]. ~ohs BE AAEY
JA2 227F I AJE oM 22|17t 22 & L U= 1 [A0|EXZ 228 A4 Fe ot& 1| 2 S0|Th
critical : H['E& Q1 judgment : EHEF
08 (C) iG] [the driving engine of that process] is critical judgment.
[S] \
(C) 12|72 1 I¥Ho| Zs ASHS bIEHH Ol BEKE)O|C,
democratic : TIFE 0l - BACHEAL -3t R
= p MA|AF + ZACHAL + RERIBH CHAEEHOE) what + SRS
2l 09 Love maintains [the democratic, self-managing meetings (in which heroes can be seen ffor [what they were],
- S \% [O] =24~ b heroes can be seen ~~ in the meetings
» F|AR = b = where
and learned from, as [a gu1de fto possible futures])].
I-Ofromol HrEA| 210j0F g
b heroes can be learned from what they were
A2 85 7hsth Digie] XIHLEZM (HAH2) & REMHE & 5+ AL ASERE HIE + s UFH0|L XAEHoz d|ts RYSS RAIBICL
* transpire 2 OfLICt ZHASICH
deed el As acceptance =8, 5¢, =& = o o o
- = F 220 AK Eg L 7o =8
take ~ atfacevalue ~= 1IHZ 2OFSO[L}  implication LA 2, g, 2t Xl,(; 2% _'_O" I_O“;\-I ot co== )EHOP-_ l_’d — 6“()}7;'
let go of (12 9H AS) =T+ critical H|ZFE Ol FChsH E20, 18 f2le FA0| WE = UAR=EXE 22 =
groundwork FH|[71 215 judgment THERE) X &= Z0|7] [[H O|CH
edge JFEREl, 2M2], € democratic DI QI BIEF0||

@ (A)-(C)-(B)
@ (C)-(A)-(B)

@ (B)-(A)-(C)
® ©)-B)-®)

@ (B)-(C)-(A)
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preference for ~: “~0f| CHet M
both A and B:‘A%tB =L} &3 F

01 |Both humans and rats] have evolved [taste preferences [for sweet foods], // which provide [rich sources of
[S] \4 [O] b A CHE AL ﬁl**‘gﬂ—ﬁ-’—'?—*ﬁ CHE AL
t—and they A(1— sweietrfoods) provide ~~~
. . which&= MEHA
calories]|. ") ool EREA . 1 HAr0] 2%
2) %o & - FxA ttFg
AL F BE EP ZA0f Ciet o] MBS FStAAH Rt=0, O|A(E 842 SFot g2hel ffES NSttt
HALH xiAAI_(Exioi ) that + §EXSH H
02 [A study of food preferences /among the Hadza hunter-gatherers of Tanzania] found [that honey was
S vV [0]
e A - Brf 52
the most highly preferred food 1tem], an item (that has the highest caloric value).
highly : A J.IIP°| LN IS4~
high: §&Ah “Z27/ £Ah “&0I"
EtAILIOIS| Hadza =8 ME QS| S4 M0 ot A7= 7MY 52 S U2 71 AEQ E0| 7MY d3E= MBS EHUCh
03 [Human newborn infants] [E{i] show [a strong preference [for sweet liquids].
[S] v [0]
QIZto| atoty| ot B Z=0f st Aot Mz E HQICH
. tend toR: ‘~5|'E ago| Aoy
04 [Both humans and rats] dislike [bitter and sour foods], / which tend to contain toxins.
[S] \ [O] L EACHE AL #I*E%u ’é-'-*t+ CHE A
b =and they (= bitter and sour foods) tend ~~~
b, which A7}
1) SOl EMEA - 1 A0 UK
2 %ol h8 - Rz Sl
AR F BE A A ZMZ A0S0, OfH{(M L M SA)2 S48 k= Z20| AL
adaptively : HE| deficit: 28, =&
05 They [ESil adaptively adjust their eating behavior / in response to [deficits /in water, calories, and salt].
S V b~ 0ff HHSSH A
adjust : ZESICH
Q52 =8 A MY BES 8, B, 239| HX0| (hH0] I ZHeiCh
CBAPE HAANEHOIE) : that + B X A A when 93
06 Experlments show [that rats dlst_)lay an immediate liking ffor salt // the first time'(they experience a salt
\% [O] S FaAl ~
deficiency)].
deficiency : 2H
HAO M= 7t A3 ZEHE M2 ZEE I 230 i S4XQ MzE 20|z HQE LIEHHCE
intake : 43 deplete:lé*AI?IEt
PESA+ become + p.p. = S=SEH
07 They I[ZEEY increase [their intake of sweets and water] // when [their energy and fluids] become depleted
\ [O] [s]
JASS OHEZERIZ O X|QF Mo NZw™ thur = {3 E S8tk
mechanism : 7| &| r=as they are designed to ~~ adaptive : 18X Ql
= appear + toR : *~8h= A ZLCf P SEATE
%8 08 These ppear to be [specific evolved mechanisms], // designed to deal with [the adaptive problem of food
= EERE toRy
selection], ancl(Afoorglnate [consumption patterns| with [physical needs].
to 2
coordinate A with B : ‘A2} BE Z=3}A|7|Ch
OIS g4 Melo| HSH 2NE C21 24 83 YAS AN S7ot ZSIYIES 1otE, S FsEl NN el
* deficiency ZHE ** deplete 1ZA|7|Ct
preference M=z, 7|z adjust 2SIt HZotot o
newborn infant JHEORY|, L17dof likewise Dtgwtxli HI==5H Az 8% oz H REOAM dNXNoZ SE0t S20f O
adaptively Hgeto], 8HSE  hunter-gatherer =3 el st @79 M29o| 20| CHESH7| s 2Alo Chst M7}
deficit 25 toxin =4 AME|C}
fluid Ko, oK, RSH in response to ~0f TiS5t0] i
calorie g, d2e intake ok
liquid =&, x|
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productive ; 244+ Ol stable : & Q1 monetary : E3}H(EE)

~one of +(Xlda) + FTYA

01 [One of the most important productive functions of government] is [prov1dlng [a stable monetary and
[S:Ek] vV [SBA HO ]
financial environment]].
financial : &2l
RO It % WA Jls T St oHEAe 8%t A a8 2dE Maste Ao|th
individual : 742! A BAL O R
REA+ have to R : ‘~B{OF ST} DR Of) -what + ERES
02 (@) If markets are going to work well, /| individuals have to know [the value of what they are buying or
s v S \Y [O]
selling].
AlHO| 7lsS & ote{¥, AIRE2 AHIS0| At O 29| JHX|E YOotof Bict.
= -for BAL toR : to FF AR 9| 0| &ke| F0{(*~0]/7})
2l 03 (@) For market prices to convey this information, /| [a stable monetary system] is needed.
= bEA 88 55 (~ot7| lehA) [s] V()
AIE 7H0| o] HEE ToH7| fIhA HEE St =7t ERSIC
exchange : w2k 72l dimension ; A}l 2+
e B0 57
04 (@ )This is especially true for [the many market exchanges (that involve a time dimension).
K_)FA_I/
O|AE2 AZHE S o= B2 AIFOAM2 Ao £35] D2{siCt
consumer durables : L+2~H| XY
»the other / another : X
05 (@) [Houses, cars, consumer durables, land, buildings, equipment, and many other items] are often paid
[S] V(+SE)
ffor over a period of months or even years.
TE XM, LT AHIM, EX|, AE, FH|, d2|0 B2 OFE 550 ofs 23] o2 & E= HXI o2 sfe] 7|20 2N =0| X2 L,
purchasing power : T-0H & fluctuate : S=FSHCH
SEEA+E A,
06| (())When [the purchasing power of money] ﬂuctuates wildly, /| [previously determined prices]
S S p.
[s] e [S] pp
do not represent [their intended values].
v [O] p-p.
represent : LFEFLHCH CHEESICH
=2| 00| H5tAH BsS 155 i, O|Foll AYE 7tA2 2l=El 7HK|E LIEILX] Ri=CF.
circumstance : &2} =4 involve : ‘~& $=EISICE commitment : 2k 1A hamper : 2+l SHCH
XN
07 Under these circumstances, | exchanges (involving long-term commitments) are hampered, /| and
SE#) CHHEAT $X44 V(- EH)
[the smooth operation of markets| is undermined.
[S] V(+-SEH)
undermine : 2FSHA|Z|CH
O|2fet ofgh Stofl M, TF7|HQl ofLS Sioh= ZHalle WoietA &0, =Bt AlFe| 752 fteEith
* fluctuate H&S HSSHEE ** hamper 2SHSHTH
monetary e circumstance a2 g 2% AEO| 7|52 E ol{H, AHRE2 RHIE0| At
dimension o, A commitment o s e = o = o 7'?2'— o= x
consumer durables (TP undermine OFstA|7| Tt It= 9| 7HK|E ZOIOF ofH, Al 7HA0| 0] SRS Hop|

oA FEE S M=t 2ot
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genetic : FH & QI people : BI& ancestor : Z=4f
= be related to~: ~2f ZHALICH P EAIAL + BAICHYA + 2EE
28 01 Often | genetic differences are related to the environment (in which [a people or their ancestors] lived).
A S =24 - La people or their ancestors lived in the environment
b = where
25| A X0l o QIF Ee 50| 0| HUE 2t 2HE0| QACE
02 Consider skin color
EEE)
IS W2 wet
»=When it is exposed to ~ manufacture : M| ZSHCE 2HS O LHCE necessary nutrient : Za= G
HEAE WE £EEATE
03 (@) When exposed (to sunlight, /| human skin manufactures vitamin D, a necessary nutrient.
expose A to B:‘AZ BO| .EA|7|Ch S \Y, =
ol == 0y, QIztel mfs Ha FLAQl HEIRI DE BHSO| WL
eSS ’-u.l-z"[Hl:HAl. UET
04 (®)The melanln (existing | in human skin) produce the color ‘(our eyes perceive | as dark).
LETY AT ZX| A g < perceive A as B:‘AS BE QlAlsiCh
RIzto| TS| ERfots WatHe Lalo| £0| {2 MO QINSHE Mg SIS0 Wk
beneficial : O| 2-&
05 (@) [High levels of melanin] protect darker skin | against sun damage, | S0 melanin usually i 1s beneficial
[S] mE S
[ in tropical environments, | where sunlight is most intense.
L EARARR ASHEY
tropical : @CHO| b, where + 2H3HH - 0] oM ~~ intense : ZH &t
=2 FXQ HEtH2 MY 24022 EH O 01':° ABO| T &t E§3}EE, HetH2 HE Fojo| 2HE0M o220, WE2 aAXoM JHE ZESh
migrate : O|FS}CH temperate : =2}t region : X| S
HEAR R 780 ghah
06| (@)IEANETE, as humans migrated finto [more temperate regions] | tens of thousands of years ago, /|
S \
pmany : X
[too much melanin| became harmful.
[S] \
become + EEAHEO): 7| E|Ch
SEX|BH QIZH0| =Bt & HMoj| O 23tet X|F922 O|Fs| Zof e}, 4P G2 HWatrl2 sfEH ZUCt
latitude : 9= penetration : 11
07 In high latitudes, | melanin reduces [the penetration of sunlight | in the skin], | reducing its ability
s v (o] LEEEiTE
LA b=and reduces ~~
(to make vitamin D).
ability toR : ‘~St= &’
09l= KoM= "atHo| mgzol WY FUE Z4AF HIEIR DE TtEE= HRO| 5HE HAAIZIC
pigmentation : A A%
= YN
20 08 (®) RIS, dark pigmentation is harmful | in high latitudes (like Europe and Siberia), /| and
£ S v LEXIA o 22
over many centuries | skin grew lighter (“whiter”) | in such regions.
s
grow+ SAHEY) : ~A E[Cp
Mt 22 Ma dd2 fEd Af2Iof 22 09: XHoMe 20, @ M 24 mf= O3 XG0l o 2 Mo|¢H SHA) =IRACE
* pigmentation A4 &y
migrate O|F3tCt tropical peequ o] o S o
g X2 Q09F o|7t0| 235t X|9oZ 0 Zto|| whep bke o
temperate 23fot 2010 intense 483t I"B_L DIt 2elth XQo@ OfF I_DOlLI 2, B2 2
genetc SH=l lattude 9z(Moz & x/g) 22 oS =USH, 9= XGoME TErHo| mRE
manufacture M| Zstct penetration EqH AE o| syl ENE ZrAA|7{ HIEIR DE TIEE H|FE9 s3HZ
nutrient e daA7|BER, 22 M Hd2 FEI AHZ[0F 22 1=

ALoM= o220, 23 ME0 28 Df= 8 XA

O B2 MOI(H oA =IRULt
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01 Today, | [the vast majority of mapmakers] e ploy [computer technologies].
[S: 5] [O]
Tthe[a] majority + of + At + SAF— of §l0f| 2= A}01| U%|
=Y Otk X HEAAS2S HAFH 7|82 ARSI

02 For most mapping projects, | [computer systems m faster, more efficient, and less expensive | than
[s] HmPE
NVEULERE E*

[the hand-drawn cartographic techniques'(they have replaced)].

K'FA‘I/
hand-drawn : 222 J2|= cartographic : X| =X =] replace : CHA|SICH
2ol XIS K Z2HE0) Q01 HRE AABE 10 O o) 8 £02 T2l XS N Jle=C O #ED, o 28H0ID, 121D b,
spatial : 72| elevation : 1= depths : ZO| temperature : 2= population : 17+
XN
03 Spatlal data (representing elevations, depths, temperatures, or populations) can be stored | in a digital database,
AT AT Sh|5A Vy(FSEl)
Il accessed /| an dlsplayed | on a map.
(B Vi S o
access : EE“PEF,§ SICH display : &2 O{3SCH
&, 70|, 7|2, 52 QT E LiEte= 37 o|HE2 CIX|E CIOIHHo[A0 ME R, 7|9 XM ==&(0f, X|=0f EAIE = UCH
coastline : Sf{ Ot boundary : AA|(H A)
N
04 (@) [The database for a map] can include [information (on coastlines, political boundaries, city locations,

[S] v [0]

river systems, map projections, and coordinate systems)].

projection : =A%) coordinate system : ZFEH|

K=& GO|EHO|A0 = SHoHd, “IXIHQl A M, EAQ /K|, +2, A= £, J2|0 A Ciet E7p Zaba & AUCh

manually : +E2E, =22
&AL+ H don‘t have toR: ‘~& Tt giCk
05 (@®)In digital form, | maps can be easily revised | because they do not have to be manually redrawn |
S V() s V(& SH)

with each revision or major change.
b each + EH=GAF
major : T2t
CIXIE #AOlM X 74 o MO S a3t #apr) Qe mojch 202 ChAl 132 Tast 97| 2o 2 HYE & Uk

rapidly : BFEA| phenomenon : 244 (pl. phenomena)
essential for ~ing : ‘~SH=Lf 201" Ay A
6 (®) [Computer—generated map revision| is essential /for [updating [rapidly changlng phenomena (such as
S] v LEXAD + SHA [ updating2| £%{01 ] b ®X|Ap -0 22

weather systems, air pollution, ocean currents, volcanic eruptions, and forest fires)]].

pollution 2% ocean current : S volcanic eruption : 2pAt
ARHEZE Stz X2 W2 L7A, t7] 2F, &iF, ot Fd, J2|0 425 20| g4

OF A

=

=
-+ =
HS} e

rir
rot
fjo

dustes o 2450\

instantly : SA| distribute : Hi Z STk

07 (@) Dlgltal maps can be 1nstant1y distributed and shared | via the Internet.

SE) L EK|A -2 Sof

CIXE R=& QEHUAE S8 SA Hi=ZED SFE 5+ UCh

principle : 2|, &%

P AR 88 0| (-8t A »RAE 8 =H (517 fIsHA”)
08| (®) IR, lt 1s stlll important [to underst d [basic cartographic principles] | to make a good map].
[TF0] [ understand2| 20 ]
SHA|2E Z2 X=5 BHS7| Qs 7|2l X = ME A2E Osidts A2 o5 SRSICE
CHAFAL S R
"’o"*f"a‘(%ﬁoi"a‘) what + E2HH3HE - = computer mapping System
09 [A computer mapping system] will draw [only what an operator instructs it to draw].
[s] v [0] s V5 5 g8

binstruct + 0] + SHE0](to R) : ‘~0| Al ~St= F K[ A[SHE}
AFH X ME AIAE2 HFH IR D225 XAISHs AS 32 AO|CL

* cartographic X|&= H|ZH()2|

principle Qg Ykl revision N, =8
efficient 2880l phenomenon o2 (pl.phenomena)
spatial 37t0], 37t 0l ocean current S

represent LFEFLHCH volcanic eruption SiArEE SIMEE
elevation ni instantly ZA|, =%

aceess D ESICH F 2ot distribute B = o}Ch

display HEA[SICH via ~= =510
boundary ZA () instruct X|AlStet HEstot

manually ®o2
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come to an end : ELtCH

01 The last ice age came to an end | about 13,000 years ago | and with that /| warmer, wetter conditions
S v S
prevailed.
v
prevail : ZFASICH M| SHCH
ORX|9} S A[CHZF ©F 13,000 O ELH1, JoF HE0] O M55t O 59 20| ML
growth : g%
N
02 [XXEMTEN, conditions were favourable ffor [the growth of grasses (such as wild barley and wheat)].
S v R A et e
favourable ~for: *~Of 2|2t ~0f &
ZUMOoZ HE2 Opdel Hajot Hup Z2 Fo| d¥H |
expand : HCH | CH population : 7HA|==
CHBAL T -SRAL
(EEQOR] At the same time BEE [open forests and grasslands] xpande I/ [the population of certain animal
[S]
species (such as wild sheep, goats, cattle, pigs and donkeys)]| 1ncreased
LKA <ot ze
SAI0| B EQI &t FEX|7F SR OF8ol & e, 4 x|, J2|0 Lo 22 §8 & 39| A7t S71UCL
3',-_+74||: A S A gradually : X} abundance : 23}
CEHANEFEOE) what + SRS begin + to R / ~ing p B F an abundance of ~ ‘B2~
04 (@) [What we find] is [that human societies began to gradually prefer areas (that had [an abundance of
[ YAFE 0] vV [C] s £
L BIARE HAARONE) : that + 2P
wild grasses and animals])].
SE7F LA E A2 QAT AR|7F SRS Opdo| Eu S20] A= X2 FAHCE HMI5H7| AARICHE AO|Ch
relatlvely.H\I'l_&*QE permanent : &% 2l occupy : FSICH KEX|SHCE =S
05 (®)Now [relatively large, permanent communities] occupied such areas | for most parts of the year.
[S] \
OfF H@H 33, Pl TEHOME HF CiEES 12 X|%o| HFMCE,
swith HAF ~j ~7 ol= %N / AFSHOJ| A’
it °cH[u;Tg' oohadts A e e 0 S HGAH 84 ...
06 (@) With some areas being clearly preferred, || a pressure may have built up (to increase the food
QA Azt S \Y
b may(might) have p.p.: ~HASX| & RECP
supply).
HE X|90| 2HS| ME[HM M 352 570 Cieh Y0 =0 EX| e ZEL,
domestication : AFS;, 753}
=
T
% 07 (®) Th1s may have triggered [the process of domestication of certain plants and animals].
&= [0]
b may(might) have pp:~HASK|E RELC}
O|HoZ Q3] £ AlES Mulste S8 582 ASsts 0| RUE[JASK = ZECL
(ZEROF) is Tikely that(RI7E0f) + F8H A : -7} -8 7H5 40| ek P 5
08 It is likely that [a comblnatlon of factors (Whlch included [climatic change, population pressure, a greater
K'r*‘[/
reliance jon and knowledge of a few species of plants (such as wheat, barley and rice) and animals (such
as sheep, cattle and pigs)]) played a role | in this transformation].
play a role in~: ‘~OflA| AEHS s|Ch
7|2 Hot OI7Q (B, 22|, 2|0 Aip 22y HE Tol MEi) (¥, 4 J2[3 X[ Z2) HE Fo| S0 tiet § B2 2FEN XS0 oie o B2 X
A2 meiotE 915 9) Zefol ol Hajoi 4ES 2 A5l Sk
iger i AL A2 29 QIZ0] A2 THEtn S22 ARSI E B
domestication AbS, T, ZE0|7|  an abundance of =~ EF% Q2 ul AL TS = Xt Ex &
: A5k7] At 8 - MRSt got 7|2 - 2 48 - E8 S
come to an end ELICH relatively HlDA, Aoz 2 zo ATl = o|7to| =7} E20| ol & =
. o = orods oas I 7Hx'”‘|‘7[ 07[ |_——| EJ-[ OEO| M AO'” 7‘[‘!‘
prevail L MISICH DHASICE permanent It 7<7|_ EXN AMES XjHistT EX S22 AFRSH= 1pHO0
barley He occupy J|Z=8IC}, AFX|SIC} gH =c T=E= =3 &&= = 1"
wheat reliance o|= 9IX| e

(=]
=
grassland EEN| transformation Ha}
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Fo 2N

comparison : H| Il characteristics : S at times : 75
01 [Comparison of the characteristics of different societies] involves problems. At times, | it is difficult
[S] v L I7HE=0f
- HAE HEAHEHOE) :if / whether + 2tF$H H - ~Q1X] OfLIX|”
[to decide [Whether [two or more societies] are independent or should be treated | as one]].
[EF0] [0] [s] Vi VoS EEIFO) b =one society
independent : =&/ 2l Litreat A as B:‘AE BE CHEL) o ~SEf
MZ2 CHE AlR|e] EFE H|wdl= O =H7F EtEDh 2= £ 7§ 0|42 AlRI7t M2 S-XQIX| 82 SLtZ CHRIMOF = XS Z7F5H7|7F ofZLt.
family institution : 7F5K| =
HEAb+ L~
02 Or, consider definitions: If we are comparing the family institution (in different societies), |
S \Y
define : ‘oILH2|Ck YN cover ; ZBSHC} variation : XtO| ES
we must define family | broadly enough to cover cultural variations yet specifically enough to make
S v * F A} + enough + o R * HBANSRA +enough + to R V5
*eno’ugh_:Il i)\HtOR / o *enﬂugh; i)\tﬂoR / o
. . - | H 518 - St A ’ .« 8k0 = - Sk A ’
comparlsons meanlngflll. I—I‘EI ST |‘(o|)/ 0I"I' °Hk| .2 T»Al:l' . I—I‘EI ST I'(°| I 0I"I' °Hk| = TM\El'

B2 25{10|(8 8 4))
bmake + S0 + SHEO|(FEA) -5 -A USCK
H, R2ls 2o A0|E ZYY FEER FE| ZFEA, AT HLE

O|SHIH Craol oIS Azt Zap 227t M2 CH2 M2l 715 K= Blasta AUCt
®olo[oH BHE HeE S5 FHECE JHEES FoIsHoF Seh
IR BAHEHOK o+ F 4 5
pEey Boh TS SR P
i3 (@) Socmloglsts do not alwavs agree on [just what a family is]. ~HH2| EH (al, every, both, always, necessarily &) + not

:~gh A2 opy
——

Are|EfR=0] F=t5| 74F0| FAAX|Of CishM o S2lst= A2 OfHCh

o
unemployment : & & urban : =A[2]
CHEA R e
04 (@) Again, | if we are comparing unemployment (in urban-industrial societies), | we must agree on
S v S \Y

[what we mean by unemployment].
LZIHo|2 2 . D=|A|-(EI-I()-| e o+ F+ &
L |:=|A|.x+ EX0{H): what + BNt ™

AEPE RE[7F =AIQ] MY AS|oA HYS Hlwdtn ACHH, (A ePo|zt BHHO| FAZ 20|5H=X|0f Cis S2I{oF Shrt.

05 (@ )IETAEENIE, in the early 1980s, | [the unemployment rate in Mexico.,, computed by U.S. standards ,

[S:E=] io zza0l.

To'n'_'A} %%LHH
: 27t 49
was approximately 30 per cent.
v
approximately : Ci 2F
OlE =01, 19800 X0 O] 7|E22 AHEE HWAIRO|MS HYES Al soHMELCE
figure : =X meaningless : 2|0 Sl=
CHALY HEANSEOT) : that + SHE H S SESVE
06 (® ) Mexican economlsts IOEYEd, argued [that this ﬁgure was meaningless /| because [Mexican work
\ [O] [s]
. . < .
habits and culture] were different from [those (in the United States)]].
v b =work habits and culture : S5
different from ~: ‘~@F CH2"
SHAICH AR FASIAES HWAZRO| 5 S a 217t 0|70l DS ME 37| WZ0] O =X|7} Fo|0|StCkn FHMLYE.
7R  BANEHORE 2|+ F+ 5 =
o T il P | snme p =
07| (®)[Much of what was measured | as unemployment] they said , was actually individuals (who were
[S] b ®X|AR ~ =S

working | at home and not earning money | in the marketplace).

marketplace : A|Z

OS2 MY MEf2ID TEE g2 220 MRS oM USkD YoM AIRUME £ UT UK S ARS0IUCD B,
PE&AL+ ® H|E -7} ~3}X| Ok

I Thus 8 although they had non-market jobs, |/ they had still been counted | as unemployed.

L V@AE + +SEY)
non-market : ‘=& A|E0f| ZEHE|X| ?Jt count A as B:‘AS BE ZHEBICE of SEEf
M HIE =& A0 ZE|X] s LX2E 7HALD A/UXT 152 OfHs| MY HEHE ZHFE(0] RAQUCE

Alod i M=o 0513 i N
et EEeuy e X2 2% M CIE Allol S Hmsts G BAI 4
involve HiSiCH ZESIC agree on ~01| SofsiLt HHEICY,
attimes W2=, 7HE2 compute ZOtCt AlAtstot
independent ZExol approximately 7-| 9|, wEL
definition ofojgel] economist YH SRt
family institution — 7IEH % figure #X|, =X}

cultural variation 23X X0 non-market & A ZEEX| o=




152 Exercise 06 2% A p.09% SFHBo F94dS ¥27] flst ¥
disappear : X}& A S SEf 27t
01 Each year | [about 50,000 species of plants and animals] dlsappea / from the planet | as a result of

as a result of ~: *~°| Z1}2"

[s]

human activity.

OfE oF 58k Fof AlZ1 520| QI7h &s9| ZNE X|FE2REH AL
conservationist : At 252X} environmental activist ; 24257} try +~ing : “(A|&&kOh ~s £ Cp priority : M=
try +toR: ‘~6}2{ 1 H3iCh AL
02 (@) [Conservationists and environmental activists| have been trying to elevate the priority (given | to
[S] V(EIYE + T3 elevate : Z A4St} LI AEARR XA
inhabitant : A{AIX}
[the protection of the environment and its inhabitants] | for many years, /| but [the public, politicians,
[S]
ignore : S-A[SIC}
and criminologists| have largely ignored their efforts.
VEHEER)
criminologist : ' XSt} largely : =2, CHH 2
A D SXQ} 5_@_%7f— off of =t 9F74"'f 2Hgo MAMSHE S252 E20| ROkl RUEE AdAIZ[2n =) oL, et tfF, A7, d2|n
HASIAIE 150 e LKz DAIS] 2
media outlet : CHZOHA|
w4 ~tie A to B:‘AS BO| REF r=s0 as toR: ~5t7| SlsfAf
03 (@) [Various media outlets] report [storles of people (tying themselves | to trees || in order to save
[S] 2 Y L.oiIH AL S 24
gEA PO F CHEA+E
spotted owls), or of large-scale construction projects (that are halted /| because [an endangered frog’s
large-scale : CHH2.2| g~ L EE| F9| [s]
halt : }3=Ct endangered : BZ2|7|0f X2
habitat | mlght be in jeopardy)].
in jeopardy : 17| 0fl A{ st
Cierot CHS0 HX1|01| Me BHEZ2 HHEI% 515 P.ZI_I Qi LIFO| XS] F& Fe AFEO0I 2t 0[0F7| = FE 21719] JHel MAIK|IZE o] Mg = A7| TR0
SR &= OiE A8 Ao 25t 007§ EE5tA QT
AR+ E
04| (3)When the publlc hears stories (like these), | reactions are varied.
L.x-mw) ~op e S Vv
varied : CFJSH
2t OjF0| ot Z2 O|of7|8 S8 Iff BHS2 LISttt
. absurd : | 2L Sl=
05 Some see [these actions]| as [moral victories] /| while others see [them] as [simply absurd].
s vV [A] [B] s Vo [A] [B] LEgi Hof xo
see A as B:‘AE BE HIZtHEC} :BE HO{2 HEAILL HAITH EO{Z £+ AS
O AIZIS2 Ol2fet ¥52 =HA S2|2 e U, O E AIlRE2 1 #4528 OX HELgE Az 20t
prominent : X st figure : 1=
P REAL+ A ~Tp S I become + oi_‘akf(ioi) ~7-|| E||:|-’ YN .
06 (@ )As [more prominent public figures] become active | in the fight |against crimes (involving nature), |/
[s] CETEAT FH44
CEAR CEEAR LA
[the problem of 111egally trading endangered species| will galn prominence | in society.
[S] LEXA+ EEALTE
prominence : B4, FET; X
2t Yok SQIS0| Ardup #AE BEo| M= MZ0| HFES B0 & m, BF ?7|e 32 2R Zdts =Xt Ao £2t & ZolCt
awarding of A to B: ‘AS BOJH =0{5h
07 (®)EETEENNE, [the awarding of the 2007 Nobel Peace Prize /to former U.S. Vice President Al Gore and
[S]
CEAE HAAEHOI) that + ST
the UN Intergovernmental Panel on Climate Change| reminded people [that environmental causes are noteworthy]|.
V4 ~OA B
noteworthy : =58 7HX| 7k s
B2 2007 = BehS DIR2] T SEY o Dolet RA Y| Wsl0l Tk WY 2 TE0 Sofet HE MRS B £80 FR I U8 4
* criminologist ‘HZ|SHAL ** jeopardy &
conservationist A EX} habitat MAIK| O ook &174 e Mo of of+ dus=
environmental activist 23St absurd EEL = fltoﬂ_' eeneo] ER i E.ilil T|OHO XI‘:EEI_OXIQI-
elevate AdA|7|C prominent Yyt FEBzl SHE2s7t, d2|n tiE0iN S0 B2 8S 7|20 ULCL
priority Mz, 2HA  public figure 3¢l
inhabitant MASE, AFA involve ZEHA|7|CH
politician ZR7t illegally e
largely Chx| =2 prominence SKNE =84
media outlet CHSOHA, 123 vice president 284
spotted owl HHE 2 0| intergovernmental ~ F£7t9
large-scale =l panel g, ME7HEC
halt SX|AIZ|CH cause 28,54, el
endangered 2597|9f noteworthy =28 J1K|7} 9
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permission to R : “~8l = EICH= &{2h excel : &7FSHCE, S OfLICH
4~ R - RF0j) A - x
01 Permission (to fail) 1s really permission (to excel), /| but few people learn this | early enough to make
S

Fo 2N

* HEAYE AL + enough + to R
*enough + HAb+toR /

a difference | in their lives or careers. “3 aha ZE8h3)

opE-alM g & 9,1':}’

Mjo| sizte A4 Flofe 4 IS0l SZIOIX|E, ARISS XHISO| AOILE FEOIA A0S TS HER SR YH 0% HSX Rt

=" —
take pride in~: *~2 XH&siCp
P F PR F3
02 (@)Those (who take pride in [having made few mistakes]) usually work for someone (who has made
R~ LEHAI A2 H : O|F0j St U Ry~ v
rESAC| AlH 8d]7] |

many and expects to make more). , SAY | -ingSBAY

Vo = o

o+ R FHo| AFet 27Ut 7t ojgy
*to have p.p. / having p.p.
FHO| A M ECH HEY s o
HE MO BiX| AUE AS RS MEES B8 B2 HE D T O 0| T 202t o4t AtES 2ol Lsict.
fall down : EO{X|Ct, AE{X|CH master : SSHSICH
L HAHBA : FH = SHof
03 (@) The skler (WhO never falls down) has not cha]lenged himself or herself / enough to master [the techniques
RgeA * A EAEAF + enough + to R
* eno:JgT +3 FA ++to R/
. . . . sk Ora X235 %
of navigating double black-diamond runs]. RS SERC
LA - SEAT ' e
navigate : S1tSHCH LEOFZHCH
43 '-*OWII e A7 M= g £ CHO|OtEE H|E TAE Siists 7|20 2 M2 T2 2AAZ0|H =SR] A}E Zd0]Ck
endeavor : ==, Al price : EH7|- »what : X

~O|ZAt+toR: ‘0" ~ sljOFSt=X|, ~Sf= UE”
04 (®)In all endeavors, | fa11ure 1s the price (pald ffor [learning [how to succeed]]).
LIFHEAT SHSA

2E M=OM dif= 883

rir

S Hi®= 20l CHsh X CH7to|Ct.

o

ironically : =&, O|&SHA = abandon: E7[SICE  quest : 3=
CHEAb+ H
= ] =

05| (@ )Ironically, | most people abandon the quest | even when they are on the right road fto the right
S \Y v

S
goal | with the right spirit.

spirit : &4
LA E, IR ARE2 dX|0] 50| SHIE YLOE SHIE ZHE &}

rir

SHE Zo /g M=AE O FFE Z7[olth

merely : EFHX|, 1K persevere : QILHSICH adversity : 94

06 They merely fail to persevere | in the face f adversity.
s v 1s

in the face of ~: “Off RIS mj’
fail toR: ‘~SHX| ZBICP
d=2 90| Tsto] 2ILstH HE|= O OX dujdt= AO|Ck
o %ﬂﬁ%{:-’f-ﬂﬁ%‘
________________________________________________________________________________ observe : ZS}CH
PR FA  parlay A to B: ‘AS BE TatsiCh
7 (®) Thomas Edlson an icon (WhO parlayed [a life of failures] | into [blockbusting successes], once observed,
K_rAI/ V
PO F close to+ BAL: ~0fl 77t CHEA+E
“IMany of life’s failures] are people (who d1d not realize [how close they were /to success || when they gave up]).”
[S] A~ % [0] b they were close to success

LUHYOBE  BASHONRIE O+ F + 5
LEAPE (B HO[R): how + 2HE B
ZE2 HMeket 0f0|29! Thomas Edison2 QIM7} “BS oMo MIIXIES 7S W KIS0l HB0| B Fpto| Y

ironically YR7|=, HOHOR  un HlE=s X2 99 Aufol 2o AR Foid & 9lgo| sjZolct
abandon Z7[stc, #alct endeavor =¥ AL, ofE ATIE Esid MD =2 A o
o Bt EfAb . N (E'U'HE sl 430 Ol = MEI')
quest =L B EPM failure ATY
permission 52 &7t persevere &3] stct
excel FlojLtct, EFEStEE  adversity 93, =
take pride in ~2 Rpsict blockbusting AFLIA QIAE Ol
navigate SISHCH oSt observe arsict, BHARSICH
black-diamond SaCio[ot=E
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Exercise 08 & p. 097

o

relatively : H{ @& O 2 shallow: &

= - appear + toR: ‘~St= 2N E 2O|Cp
2 01 In relatively shallow coastal areas, | sea water often appears to have [more of a green, yellow, or even red
o S \4
hue|
hue : A4Z=
HIEY @2 oloh RIOM, GBS Y| =4, w2t Ex MX|Of WHo| MZE Cf BO| M HNE Holrh
-thanks to N = owing to = because of = on account of = by virtue of
= SR ELS A A
2l 02 (®) This is due to [the relatively high quantities of suspended and floating material | in these waters].
= A EWED
0|42 O] 8o U= HlmA Q2 Aol i Yes £7 SHO| 7|stct.
material : =& restrict : K[SFSIC}  penetration : 2HS
03 (@) Such materials restrict the penetration of light, | and [IEE T [more of the light] is reflected | from
S v [S] V(F5H)
[the upper layers of the water], | where [the longer red, yellow, and green wavelengths] predominate.
L B Ae] ASE Y
layer : L where + 2K 8H & - 0] ZL0j| A ~~ wavelength ; IH& predominate : X|HHZ&O|Ct
8 282 Yol HEE NTlEE O B2 Yo E'°| fE ZOERH HIAE| =0, OX0Me O 21 W, &) 2|0 A TFYo| X|HiolCk
Ha7e
e
04| (@) There typically are more suspended particles | in coastal waters | than in offshore waters.
\ p-p. SE=
suspend : DH':*E} ZCt/ suspended particles : 23 X=
2E st BOiM U= SHFELH ek sjFof| 57 AXIF O BCL
This is why + 7éI‘_|':‘0| [[H—E—Oﬂ ~7t~siCh carry in: =7|Ct sediment : E|& = stir up :AICt
This is because + &9l : “0]= ~7t-8t7| -2 0|Ch NEUN N
05 This is because coastal waters contain [material (carried in | by rivers)], [sediment (stirred up | from the
\ [O:] LIAAZMT X4 [0:] LIAZ AT ZA[A
bottom |by waves and currents)], and [a relatively high amount of plant and animal growth].
3
O|A2 Q1o o] Z=0f 2 2E=0f 2 =&, Ot si70| 23 2MOM HECZRH Mg HHE, J2(1 HuH B2 g9 Azl 5= 482 ¢
Fot 7| W=Oo|et
concentration : &%, &=
such+a+ 8+ / such~ that + 2 SH = : <OFF ~8 A --Ck A
06 (@) [Some coastal waters and rivers] can have [such a high concentration of suspended sediment and
[S] v [0] p.p.
L] /_MN
floating plant material] | that light only penetrates the surface | a foot or so.
ST EAF S v
penetrate : 2HESICE
U IO ST} QIoto] A OfP &2 HEO| [ U YHBI £ ABK 2T2 BRHT 0K Yol ©F EY 1IE Y& YL
07 (®)In this case, | the water may appear brown, red, or even black.
S v
O 42, 22 ZM F2M T X0 Hd2Moz 5 & QUCt
*hue MZE ** sediment AT E
Qe i H|SHSID oo =
e o B X% 29 DX P2 ook AN, HISES Bo] S
= o
coastal waters clok s wavelength & ShAl = AX|Of W7tMOol MAZE [ Q0| L= ANEH HO|
offshore S0 M BO{XMRA=  predominate X|u{ & 0| EE‘”, O|E Of sfoi| U= HuH B2 Lol [ U= 7 =
relatively HlwH concentration SE Z0oj| mjOo[Ct.
shallow L2 penetrate YESto
floating material ~ £F=H £F=




